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Tables and Graphs
1 1 Let’s Make a Table and Draw a Graph

&

<»[EEniE 1 List the number of items a shop sells.
o Tally them on the graph using a O .

nE_ 0 s 0 eee
/0 B nelggesy
e 0 | /105

@ Fill the numbers in the table.

Name Pen |Notebook| Scissors Toilltlet Soda
rol

Number| 3 4 2 6 55

I_‘I—I List the number of stationaries you have.
o Tally them on the graph using a O .

' /o o, @) 8

s o m B/ 0lo
AR 888
/ |W.A ) //“ ‘Lg |W.A‘ SteTolole
0/« B /Eli=r

6 Fill the numbers in the table.
Name Pen |Notebook| Scissors | Eraser | Pencil
Number | 5 6 3 | 3

<»[EFEniE 2 List the number of fruits you have.

® 4 0; g 9
y.
‘QJ J ‘ J ° J

Tally them on the graph using a .

O Taly g ga( )

Watermelon @| O | O
Orange ) o|O0|O]|O
Banana _/ [Tl elked
9 Fill the numbers in the table.

Name of fruits | Number of fruits
Watermelon 2
Orange 5 4
Banana 4

,_z—' List the number of vegetables you have.
> ¢ y ® VR y
(]
VeV ie% 7

o Tally them on the graph using a O .

Maize / oJ]oJo]o
Garlic 0|0

Tomato @ olO0|O|O]|O
Onion & OO

Carrot /" o|lOo]|O

e Fill the numbers in the table.

Name of vegetables | Number of vegetables
Maize
Garlic
Tomato
Onion
Carrot

WIN|O N~

Tables and Graphs
1 - 2 Finding What a Graph Shows

-

<m Find out what kind of fruits your classmates like.

Name Number
Banana _/ O|0|0O|0O|0O]| [Banana 5
Mango e |0|0|0|O Mango 4
Orange O |0|0|0 Orange 3
Pineapple % |O Pineapple |
Watermelon ‘ [e]]e) Watermelon 2

o What is the most popular fruit?

Banana

e What is the difference between the number of
mangoes and pineapples?
Ed

I_I—I Find out what kind of vehicles are there in town.

Name Number
Bicycle &% |O|O|O[O|O]|Bicycle 5
Bus 8% o|o Bus 3
Truck o= 0|0 Truck 2
Motorbike g% |[O|O Bike 3
Tractor & o Tractor |

o What is the most common vehicle in the town?

9 What is the difference between the number of buses

and tractors?

|_2—I Find out what kind of vegetables are sold in a store.

Cucumber o |O|O|O|0O]|O

Potato @ |O|O

Cabbage @ |0O|0O|O

Tomato @ |O|O|O|O|0O|O|O|O
Onion ® |0|/0|0|0]0|0|0|0|0|0
Name Number

Cucumber 5

Potato 2

Cabbage 3

Tomato 8

Onion 10

o How many cabbages are on sale?

Q What vegetable is there the most of ?

Onion

e What vegetable is there the least of ?

0 What is the difference between the number of potatoes

and tomatoes? E

9 What is the difference between the number of potatoes

and cucumbers?

JICA 24 _fREMRER_P002-046. indd 2

2022/02/25

14:56: 4




-

1-3

Tables and Graphs

Review

I_l—' List the number of vehicles observed in town.

oo [g%s

S~ G G
o ah S O oo T b @b

& b
=)

o Tally them on the graph using a O .

Bicycle & O]|0|0]|0|O0|0|0|0]|0O
Bus [ 0|0|0]|0

Truck o= O|0|0]|0|0O

Motorbike geg o|o|o|o|o]|o
Passengercares o |O|O|O|O

Dumptruck g [O]O|O

(2]

Fill the numbers in the table.

Name of vehicles

Number of vehicles

Bicycle

9q

Bus

Truck

Motorbike

Passenger car

Dump truck

W (OO~

12! Find out what kind

of subjects are popular in your class.

Language O

Social studies

Science

O|0|0|O
O[|0|0|O
O|0|0
(@)
@)

@)
Mathematics O
@)
@)

Second language

O|0|0|0|0
O|0|0|0|O

Name of subjects Number of students
Language 5
Social studies 7
Mathematics 9
Science 6
Second language 3

o How many students like Social studies?

‘ Language ‘

@ What subjects do 5 students like?

9 What is the most popular subject in the class?

‘ Mathematics ‘

l_3—' Find out what kind of snacks your classmates have.

Candy O|0

Cookies O|0|0
Chocolate 0|0|0|0]|0O
Donuts O |0

Name of | Number of
snacks snacks

Candy 2
Cookies 3
Chocolate 5
Donuts 2

o Which snack has the same number of snacks as candy?

Donuts ‘

0 How many more cookies do you need to have the same

number as chocolate?

Addition
2 = ﬂ Addition Algorithm (1)

[Foms [ors] Toms [ors

G —
\01 S—

B
===

SEE0010 Calculate 25 + |14 by using the algorithm.

Line up the numbers vertically

in each place.

Calculate each place
separately.

\Calculation of the ones place\

5+4=9
\Calculation of the tens place\
24+ 1=3
25+ 14 =39

Calculate the following problems by using the algorithm.

Tens | Ones Tens | Ones

23 1],

+ 14 |1,

Tens | Ones

36
+23

e Tens [ Ones.

Tens | Ones

25
+ 4 |

Tens | Ones e

+
w
oo W

Tens

Ones

Addition )
L 2 -2 Addition Algorithm (2) )
<»[3E0[E Calculate 30 + 24 by using the algorithm.
[ Tons | Ones Line up the numbers vertically
3 O: ||| in each place.
+24 i, Calculate each place
| separately.
% — \Calculation of the ones place\
[mlow]  [mm[oms 0O44=4
30 B [Calculation of the tens place]
: alculation of the tens place
*24y s 3+2=5
54 W, 30 + 24 = 54

Calculate the following problems by using the algorithm.

o Tens [Ones| [ Tens [Ones e Tens [Ones|  [Tens [Ones

+ 14 |1, +36 [l

0 Tens [ Ones o Tens [ Ones e Tens | Ones
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Addition
2 = @ Addition Algorithm (3)

]

Tors [ores]

Ones

7]

=

separately.

Line up the numbers
vertically in each place.

Calculate each place

|
H

\Calculation of the ones place\

24+4=6

. \Calculation of the tens place\

Only 3

32+ 4 =36

<SEEE Calculate 32 + 4 by using the algorithm.

ng

“4” does not
have any
numbers in
the tens
place.
Remember
“4” is the
same as
“04”.

Therefore,
this addition
problem is
same as the
previous
problem.

Calculate the

Tens | Ones

Tens

Ones

32

Tens

following problems by using the algorithm.

(2]

Tens

Ones

Tens

Ones

5

3

4

l7

Tens | Ones

Tens | Ones

~

Addition
2 -4 Addition Algorithm (4)

m Calculate 3 + 64 by using the algorithm. ‘

When we write this

o
|/

addition problem by
using the algorithm,

3 3
+64 O 464

which is correct?
[Fere o] Line up the numbers vertically
3 in each place.
+6 4 Calculate each place
separately.
I \Calculation of the ones place\
*j 3+4=7
+6 4 \Calculation of the tens place\
= 6
6.7 3464 =067
Calculate the following problems by using the algorithm.
o Tens | Ones Tens | Ones e Tens | Ones Tens | Ones
3 : 5 i
+62 [, +54 |Wll
65 59
e Tens | Ones o Tens | Ones e Tens | Ones
4 7 6
+23 +82 +3 |
27 89 37

Addition
ReView ( l )

]

l_1—' Calculate the following problems by using the algorithm.

o 2] (3 o
5 | 315 36 2.0
+2/3] | +5/4 |[+32] +/18
704 819 6]8 38
(5] o (7 o
215 3.0 52 2
+4/0] [+[1[0] [+ 6] +[4/3
615 410 58 415

l_2—' Calculate the following problems by using the algorithm.

@ 3%+15 @ 13+22 @ 61+25 @ 20+70

34 13 6|1 210
+ 15 +2 2 +25 +7]0
4.9 35 816 q/0
© 6+5 @ 10+3 @ 63+6 @ 7+70
4.8 10 6|3 7
+ 50 + 34 + |6 +7]0
9.8 44 619 7.7

Addition )
L 2 -6 Addition Algorithm (5) ]

1

[
3
+§2

oo aff

olloo 3§

+EE0 Calculate 37 + 28 by using the algorithm.

7 a
? o (10and9) Regroup | to the tens place.
[ [t [Calculation of the tens place]
Bl The regrouped | and 3
I mm make 4.
:ﬁ\:ﬂ L+2=6
37+ 28 =65

Line up the numbers
vertically in each place.

\Calculation of the ones place\

Calculate the following problems by using the algorithm.

Tens | Ones

Tens

Ones

3
+ |

5

Tens

|
2
4

e Te‘ns Ones|  [Tens [ones

26 M

+45 1l

7|

Te‘ns Ones e Te‘ns Ones
4 4 59
+38 +26
82 85
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Addition )
2 = W Addition Algorithm (6) ]

<S[EELTE Calculate 24 + 46 by using the algorithm.
0 C R T Line up the numbers
]2 4 IR vertically in each place.
+4 6 n T \Calc lation of the ones place\
‘ E— L] b+6=10
4and 6 make 10. ¢
§ 8 T Regroup | to the tens place.
o= [fors [ore \Calculation of the tens place\
2.4 I The regrouped | and 2
65 Ml 1@ make 3.
Lt | 3+4=17
70 2% + 46 =170
Calculate the following problems by using the algorithm.
o Te‘ns Ones|  [Tens [ones 9 Te‘ns Ones| [ Tens [ones
31 0. 67 Wl
+ 19 111 +23 |1,

e Tens [ Ones 0 Tens [ Ones e Tens [Ones
| |

|
+28 + 2
4

O~ O
+
Ol
Ol

Addition )
L 2 = 8 Addition Algorithm (7) )

<»[3E[JE Calculate 28 + 6 by using the algorithm.

[efoms] - frowons Line up the numbers
28 T vertically in each place.
+ 6 i E \Cal ulation of the ones place\

8
IAa(IO and 4).
¥ T Regroup | to the tens place.
‘\ﬁ‘iom o o \Calculation of the tens place\
2.8 |l The regrouped | and 2
Cr} 6 | make 3.
L)
E4 @E 28 + 6 =34

Calculate the following problems by using the algorithm.

o Tens [Ones| [ Tens [Ones o Tens | Ones
| I
59 i 6 4 |l

+ 6 + 7
65 7|

o Ts‘ns Ones 0 Te‘ns Ones 0 Te‘ns Ones
73 47 35

+ 8 + 6 + 9

[ens [ones

Addition )
2 = @ Addition Algorithm (8) J

<S[EELT0 Calculate 9 + 37 by using the algorithm.
0 R Line up the numbers
9 1h vertically in each place.
+37 Il ﬁ \Calculation of the ones place\
| 77and 7 make
16 (10 and 6).
g T Regroup | to the tens place.
Q CED o [ores \Calculation of the tens place\
9 | m The regrouped | and 3
/ make 4.
+3 7y M
£
EQ m@ 9 + 37 =46
Calculate the following problems by using the algorithm.
o Te‘ns Ones|  [Tens [Ones 6 Te‘ns Ones|  [Tens [Ones
8 I 5 i

+66 [l +87 BB

e Tens [ Ones o Tens | Ones e Tens Ones
| I |

+
w
O
+
Ol

O1) 00

+
N
o

Addition
2 =10 Addition Problems

& J

<»[E=nJE There are two second grade classes in my
school. One class has 36 students and another
class has 35 students. How many second
grade students are there altogether?

Math _ ? 3
36 + 35 =171

Sentence +3

7

Answer students

I_1_‘ | have 27 notebooks and my sister has 26 notebooks.
How many notebooks are there altogether?

Math 217
27 + 26 =53
Sentence +126

s
yo o

6
5
I

Answer notebooks 513

I_2—' My friend read 23 pages of a book yesterday. He
read 37 pages today. How many pages did he read
altogether?

Math _ 213
Sentence 23+ 37 =160 +13]7

Answer pages 60

3! My brother had 6 pencils. He bought 24 more pencils
today. How many pencils does he have altogether?

Math _ 6
Sentence 6+24=230 +214
Answer pencils 310
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Addition 1_3—I Answer the following questions.
2 = " Review (2)
0 | had 25 pieces of candy. My mother gave me |5 pieces
l_1—' Calculate the following problems by using the algorithm. of candy. How many pieces of candy do | have now?
Math _ 215
O 2%+17 @ 3%+57 @ 7+18 @ 25+ 45 Sentence | 20 T 15 =40 + 175
24 314 6|7 25 Answerpieces of candy 410
+ 117 + 5|7 +| 18 + 415 @ 36 children were playing in the park. Then I8 children
41 gl 8'h 70 came to the park. How many children are there now?
Math _ 3|6
Sentence 36+ 18 =154 + 118
3B+7 54 + 6 8+ 16 4+ 38
© o o o Answerchildren 514
3.8 54 8 4 e | picked 24 flowers in the park. My father picked 37
+ 7 + 6 + 116 +/318 flowers. How many flowers did we pick altogether?
45 610 204 42 var [ 2[4
entence 37
= . . .
2 ' Putan X over the mistakes. Write the correct algorithm Answer flowers
- on the right. W w 6Ll
0 38+ 12 e 16 4+ 45 I_l.—' Make math sentences that have an answer of 32.
The numbers | to 9 can be used in the |:| You can
38 38 [ 16 16 use the same number repeatedly.
0/ 50 MR 2] 1]+ 11 ]=32 [1]4|+[1]8]=32
® 6+27 O 20+4
[+ 21 11=32 1|5+ 1|7|=32
Z IBAR Ll +2] =82 [ ][5 ]+ 1]7]
+ 2 7 + 2 7 + + 4 How many math sentences
{ 33 214 += 32 can you make? aﬁw
18 19

L 3 = 1 Addition Algorithm (1) ) L 3 = 2 Subtraction Algorithm (2) )

<S[EELTE Calculate 39 — 15 by using the algorithm. <»EEn;E Calculate 37 — 20 by using the algorithm.
(e R} Line up the numbers vertically Line up the numbers vertically
;339; in each place. in each place.
_ | 5 Calculate each place Calculate each place
separately. separately.
4 \Calculation of the ones pIace\ \Calculation of the ones place\
pe=le=] 9-5=4 7-0=7
39
bt \Calculation of the tens place\ \Calculation of the tens place\
- 15 — -
4 3—-1=2 3-2=1
39 — 15 =24 37—-20=17
Calculate the following problems by using the algorithm. Calculate the following problems by using the algorithm.

o Tons [Ones| [ Tens [Ones 9 Tons [Ones| [ Tens [Ones o Tons [Ones| [ Tens [Ones e Tons [Ones| [ Tens [Ones

-2 9. - 15 4, - 10 4 -30
27 3 | 27 33

e Tens [Ones o Tens [Ones o Tens [Ones e Tens [Ones 0 Tens [Ones e Tens [ Ones
75 68 97 8 4 79 8

-23 -52 -53 -40 -6
52 | 6 4 4 4 4 | 9 31

20 21

(@)
|
(@)
(@)
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N
‘ 3 = 3 | Subtraction Algorithm (3) ] ‘ 3 = 4 | Review (1) )
m Calculate 37 — 5 by using the algorithm. ‘ I_l—I Calculate the following problems by using the algorithm.
When we write this %%I
Ak meengeeten 07 o 7 o o © o
i v{hichi%corregcc’? ' 4 5 5 8 7 8 q 4
Felow]  [eeow) |ine up the numbers -2 —-37 -135 -6
;3 7 vertically in each place. “\=: 214 21 413 33
- b Calculate each place “5” does not
IS "
| sepa rately. nz\:b?r); in the e o o 0
\Calculation of the ones place\ tens place. agp
7—-5=2 E;Og!,esameas 6 8 3 5 8 7 I 9
H Calculation of the tens place\ Therefore, this -4 0 —-20 — 4 — 8
No calculation problemis | 28 |15 8 3 [
HD 37 —5=32 previous
problem.
Calculate the following problems by using the algorithm. I_Z—I Calculate the following problems by using the algorithm.

o Tens | Ones Tens | Ones e Tens | Ones Tens [ Ones

37 1 ;37 56 i 0 @ s5-41 @ 58-23 @ 88-16 @ 73-40
- 6 J - 3 J 815 58 88 7.3
' ot A -4 1 =2/3 =16 —]40

3| 53 l;;;;;jg; 414 35 712 3[3

=
e Tens [ Ones 0 Tens [ Ones e Tens [Ones

78 45 2 O 6-20 O 5-15 @ 65-2 © 57-4
- 6 - 4 - 66 q15 6|5 5|7
—-120 - 15 - 2 —| 4
72 4 | 20 416 810 6|3 53
22 23
3 | ©oFF o ==
5 Subtraction Algorithm (4) 63 790
. J o =3
<‘m Calculate 45 — 18 by using the algorithm. - q; -2 6;
[Fens [ones] Tons [Ones]| Line up the numbers vertically AE AE
45 [ ' in each place.
- 18 |Calculation of the ones place] (7] ;ﬁ O == (9] Tﬁ
You can't take 8 from 5. E 5 8 E z |
You need to regroup from the = G M CED 52 {9
tens place. -6 q3 —34 4 -2 33
5-8=7 26| 13.8] 18]
\Calculation of the tens place\
Since you regrouped, the tens |_2—I Calculate the following problems by using the algorithm.

place becomes 3.

T 0¥ oF5 oF% o
This actually means “30 q 4‘ 8 3 5 6
— 10 = 20", doesn’t it? 0 _ 7 8 _ 2 4 _ 2 q
45 — 18 =27 '!" TE 59 biul
°0F% 07 0= of=
4.7 71 8 4
-19 -24 -56
28] 47 28
24 25

W JICA 24 _fREMRER_P002-046. indd 7 $ 2022/02/25 14:56:53(




3 = 6 | Subtraction Algorithm (5) )

<SEEE Calculate 40 — |8 by using the algorithm.

{ 3 - 7 | Subtraction Algorithm (6) ]

< [3EnE Calculate 40 — 8 by using the algorithm.

Tou [ [ TR Line up the numbers vertically
4.0 l in each place.
-18 \Calculation of the ones place\
You can't take 8 from 0.
8
b = You need to regroup from the
B tens place.
75 I0-8=2
- 18
\Calculation of the tens place\

Since you regrouped, the tens
place becomes 3.

3—-1=2

This actually means “30
— 10 = 20", doesn’t it?

40 — 18 =22

o [Fons [ones] [Tens [ones

o] v

el 80 70 b
= -53 -2 -27

26

[re B8 Line up the numbers vertically
40 in each place.
- 8 \Calculation of the ones place\
You can't take 8 from 0.
T'JT IRES You need to regroup from the
(s o] tens place.
A [0-8=2
_ g 310
\Calculation of the tens place\
Since you regrouped, 4 in the
(o [ones tens place becomes 3. There
L ) is nothing being subtracted
% Q/ I from it. So, it is simply 3.
- &
— I 40 — 8 =32
32

Calculate the following problems by using the algorithm.

o Tons s | e [Tene [ones] o [Tons [ones] 0 [Tons [ones]
3 10 6

27

L 3 - 8 Properties of Subtraction )

<»Instruction |f you add the number being subtracted to
the answer, you will get the number you are
subtracting from.

L 3 - 9 Subtraction Problems ]

<»[EEnrlE My brother is reading a 96-page book. He has
already read 5| pages. How many pages are

The number being

The number

Answer

subtracted from subtracting

37] - 18] = |19]
L19] + [ 18] = [37]
By using the algorithm, you can do the following.
The number being subtracted from ---- 3 7 1 | q
The number subtracting -~ | 8 @ | 8
JE— S g ~N37

<=3 Calculate and find the answer.
Then check the answer using addition.

63 — 45 63) | 18
— 4 5 [F45
| 87 1 6,3

Calculate and find the answers. Then check the answers
using addition.
@ s56-18

O 4-2

4[4[ 115 56]1 [3[8
—29+29 — 18+ 18
5[} 44 381 56

28

left?
Math _ _ 9 6
Sentence | 70 =91 =45 _I5 IJV’
Answerpages 415

1! I had 43 pieces of candy. | gave 28 pieces of candy to
my friends. How many pieces of candy do | have left?

Math 413
43 —28 =15
Sentence . f —1218
pieces o
Answer| 15 |Pcs 115

2! There are 55 flowers in the park. If we pick 15, how
many will be left?

Math e 55
Sentence 55— 15 =140 —115
Answer flowers 410

|_3—I My class library has 48 books. Today it has 27 books.
How many books have been checked out?

Math _ 418
Sentence 48-27 =2 —1217
Answerbooks 211

29
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‘ 3 '10| Review (2) ]

I_l—I Calculate the following problems by using the algorithm.

@ 66-49 @ 57-38 €@ 65-36 @O 45-29

616 57 615 415
—1419 —13]8 —13]6 —-12]9
117 119 29 116

© 75-471 @ 83-48 @ 60-2 €@ 73-8

7.6 83 610 7.3
—417) |—48 |26 |- 8
28 35 304 65

|_2—I Put an X over the mistakes. Write the correct algorithm
on the right.

O -5 O s5-3

1_3—I Answer the following questions.

0 There are 36 students in my class. |9 students are
boys. How many girls are there?
36

Math
-9

36— 19=17

Sentence

Answer girls |17

e My mother had 50 necklaces. She gave 25 necklaces to
her friends. How many necklaces does my mother have
left?

Math e 510
Sentence 50 - 25=25 —12]5
Answernecklaces 215

9 There are 93 books in my house. | lent ¢ of them to my
classmates. How many books are left?

Math o 93
Sentence 93 -9=284 _ 9
Answer books 8|4

I_l.—' Make math sentences that have an answer of 36. The

33 33 58 58 numbers 2, 3, 5, 6 and 8 can be used inthe|:|. You can use
— 15 |—=1115 -39 —1319 the same number repeatedly.
|18 q |19 Example
o o [518]-[212)- % [¢]2)-[26]= 3
50/ 50 703/ [ (73 [6]8]-[3]2]=36
— 4 g — 4 g - — 2 g _: 36 :ZV;OTar::k?;th sentences
30 31
Units of Length ) F its of Length )
L 4 - 1 o Centimetre(l) ) L 4 - 2 o Centimetre(z) )

32

<33 Measure the length of the pencil using a < and

a

rocks long
! 4" |and some

| extra
R ;
B

A centimetre is the standard unit used to measure the
is wri ilem;
length. It is written as cm. | “T1

clips long

The length of a rock and a clip are different.
It is difficult to find out the actual length of the pencil.

<»[EEnJ5 How many cm long are the items below?

I_l—I Measure the length of the following items using D with
Icm side.

6 cm and some
extra

8 cm and some
extra

5 |em

(a):( e % 2 |em
T
0 9 8 g
© o gu— 3 4em
‘ ‘ ‘ ‘ + ——Avruler is a device to measure

4 "v.)o length and draw a straight line.

|_l—' How many cm long are the items below?

I, I
== -

33
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34

<»[FEnE How long is the length of the objects?

Units of Length )
L 4 -3 Millimetre )

T8

4 5

|||||||||||||||||||||||||||||||||||||||||||||||
i
Divide one cm into |0 equal parts.
a) 5 leml 2 |mm )!L Each part is called a millimetre.
® | millimeter can be written as | mm.
b) I leml 5 Tmm ® | em equals 10 mm. __Imm
- e

|_1—' How long is the length of the objects?

0 o e

’0|2345|
2 o

I (4]
’0|2345|

Crayon

I
NI RAROAnRRRMRImIm

(3]

<wInstruction. How to draw a straight line using a ruler.

<> 305 Draw the following lengths as straight lines from

Units of Length )
L 4 - 4 Drawing Straight Lines )

|. Draw a dot as | 2. Place the zero|3. Draw another
a starting point. | of the ruler at the|dot and connect
starting point. the dots with a

/ ' line. /

e A e A

the points by using a ruler.

o 5cm

o I 2 3 4 5 6 7 8 9 oIl 1213

e 8cm b5 mm %

o | 2 3 4 5 6 7 8 9 oIl 1213

Draw the following lengths as straight lines from the points
by using a ruler.

0 6cm

e 3emb5mm
0 7 cm 3 mm
o bem9mm

35

36

<»[EF&n{3 1 How long are the line by using a ruler?

== [3enm 2 Calculate the following.

Units of Length )
L 4 = 5 Addition of Lengths )

cm

Syz\ cm+cm=m

(@) 2cm + 4cm

[ o
(&en[ o

Calculate the centimeters and

| — |
(b) 3cm4émm + 5cmb5mm

the millimeters separately.

I_l_| How long are line (a) and line (b) by using a ruler?
@ T
cm +cmmm = cmmm
(b) /\
E cmmmm + cmmm cmmm

Calculate the following.

4cm + 6cm =cm e 5cm+7cm=cm
30m6mm+2cm=cm|Z|mm
6cm5mm +8cm =| 14 |em| 5 |mm
5mm+20m3cm:cmmm

000K

<»[3Eni 1 What is the difference in length between line

<»[3Zni 2 Calculate the following.

Units of Length )
L 4 - 6 Subtraction of Lengths )

(a) and line (b).

(@) w length of (b) length of (a) 4
5cm5mm — 5cm =mm

(b) 4cmb5mm I'cm We can subtract the shorter

one from the longer one.

5cm8mm—20m3mm—.cmm

|_1—| What is the difference in length between the following
hnes7

? N e =3 em =[ T Jom

uuﬂnnﬂnﬁ’\! cm . mm = Cm m mm
Calculate the following.

7cm—3cm=cm (2] I3cm—40m=|Z|cm
8cm5mm—20m=|z|cmmm
I20m2mm—80m=cmmm
3cm6mm—5mm=cm|I|mm

000N
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Units of Length )
L 4 - 7 Converting Units of Lengths )

<» (3= 1 Convert the lengths to mm.

(a) 3cm=mm (b) |cm2mm=mm
@Icm=\0mm.

<»[FEni3 20 Convert the lengths to cm / cm and mm
(@) 20mm =] 2 |em (o) 32mm =] 3 |em| 2 [mm

|_1—I Convert the lengths to mm.

5 cm = 50 | mm © 7cm=|70|mm
4om = 40 |mm O 12cm=| 120 |mm
lem6mm =[ 16 Jmm @ 2cm5mm =] 25 |mm
scm7mm=[67|mm @ 10cm3mm =103 |mm

Convert the lengths to cm or cm and mm.

60mm =] 6 |em © s0mm=| s [cm
90mm =] 9 |em O 100mm=10]cm
5mm=| | |em| 5 [om @ Stmm=] 5 Jom] ¢ Jmm
107mm =] 10 [em 7 Jmm @ 131 mm =] 13 Jem| | Jrom

Q0 0O0NOOO

38

Units of Length
4 = 8 Review

|_‘I—I How long is the length of the objects?

© e ©

2! Draw the following lengths as straight lines from the
points by using a ruler.

o 7cm

e 10 em 2 mm

Calculate the following.

0 5cm + IOcm=cmo |30m—7cm=|Z|cm

e 3cm2mm + 4cm | mm=cmmm
0 ‘?cm5mm—5cm3mm=cmmm

Convert the lengths to mm, cm, or cm and mm.

(1) 20mm=cm (2] IOcm=m

©® 190mm =cm O 13cm =|I|cmmm

(5 2cm5mm=mmo II8mm=|I|cmmm
39
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Time Points and Time Intervals
5 - 1 How to Read the Time Intervals
<wInstruction A student goes to town to buy stamps and
groceries. How many minutes did it take from
when the student left home until he arrived at
the post office?
<THTN

7 6 7/ls

Arrived ét the Arrivéd ata

&

Came
post office market back home
7:00 |Time intervals
Al
The time the The time the
student left home student arrived at
(Start) the post office (End)

It took 15 minutes from the time the student left home to
the time the student arrived at the post office.

A time interval means working out
how long something takes.

< [3Ena 1 How many minutes did it take from when the
student arrived at the market until the student
came back home?

7:30 | Time intervals

Al

The time the
student came
back home (End)

The time the
student arrived at
the market (Start)

40

It took
the market until he came back home.

15+ minutes from the time the student arrived at

|_I—I A girl goes to town to have tea and buy groceries.

AL e “

Came
back home

Arrived at a
market

o How many minutes did it take from when she left home

Arrived at

Left home
bus stop

until she arrived at the bus stop?

It took minutes.

9 How many minutes did it take from when she arrived at
the bus stop until she arrived at the market?

It took minutes.

<»[EFEnB 2 |t is 8:10 now. What is the time point of |0
minutes before?

St (7

Time intervals
(10 minutes)

tis [520].

,_z" It is 9:30 now. Write the time points that shows the
following.

0 30 minutes before

e 10 miutes after
o 25 minutes before

e I5 minutes after

41
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Time Points and Time Intervals
5 = 2 A.M. and P.M.

[ a.m. (before noon)———
0 I 2 3 4 5 6 7 8 9 10 Il 12
[T T T T 1T T T 1T T T 1
Noon
Getting out of bed Taking a class

<»[3Zn5 1 Observe the time that the clock marks for the
different activities. Find out what time did the
student do the following activities.

o Getting out of bed e Preparing dinner
It's o’ clock. It's o’ clock.

< Instruction. AM and PM

a.m. stands for ante meridian, which means before
noon (morning)

p-m. stands for post meridian, which means after noon
(afternoon)

<»[FEniE 2 Tell each time using a.m. and p.m.
Getting out of bed: It s 5 in the morning,

Preparing dinner: It s 5 in the afternoon,

I_l—l Observe the time that the clock marks for the student’ s
different activities. Find out what time did the student do
the following activities using a.m. and p.m.

Taking a class

elt' s 9 in the morning,
Preparing a dinner:
It' s 9 in the afternoon, 9:00 p.m.

42

12 1 2 3 45 67 8 9 10 Il

A The band shows the time interval which the shorthand
’\‘Q’\“ goes around. The numbers indicate hours.
p.m. (after noon) ————————
0
[
0 11 12

| |
o I 2 3 4 5 6 7

. . Going to bed
Preparing dinner

I_2—' The following tape diagram shows hours in a day
starting from 12:00 a.m. What are the time points to A, B,
C, and D using a.m. and p.m.?

A B ¢ 3
l l 0 | 2 3 4 5 6 7 8 9 10 Il 12
| | []
01 2 3 45 6 78 9 10 Il 12 0
Noon
o Time point A 9 Time point B

3:00 a.m. 8:00 a.m.
9 Time point C 0 Time point D

3:00 p.m. [1:00 p.m.

|_3—I What time do you do the following activities? Tell the
time using a.m. and p.m. Example

o Getting out of bed
6 Leaving for school
e Coming back home

0 Going to bed

43

Left home Caught a Arrived at the Came
bus city office back home

0 How many minutes did it take from his house to the
office?

—  —

" The time he .
The time he left B : minutes
arrived at the city m
home (Start) office (End)

6 How many hours did it take from when the teacher
left home until he came back home?

Al

The time he left The time he came hours.
home (Start) back (End)

60 minutes equals | hour. | hour
equals 60 minutes.

44

H [ 6 3

Left home Caught a  Arrived at the Came
bus city library back home

o How many minutes did it take from his house to catch

the bus?
minutes

9 How many minutes did it take from catching the bus to
arriving at the city library?
9 Y v minutes

e How many hours did it take from leaving home to
coming back home?
hours.

<»[3En;/B 2 The following tape diagram shows hours in a
day starting from [2:00 a.m. How many hours
are there in the afternoon?

0 | 2 3 4 5 6 7 8 9 10 Il 12

0 1 23 45 6789 10 I 12 0

There are hours in the afternoon.

2 Related to the tape diagram above, how many hours
are there before noon? How many hours are there in a
day?

There are hours before noon.

There are hours in a day.

45

12

JICA 24 fR&MRER_P002-046. indd 12

2022/02/25

14:57:0f




46

Time Points and Time Intervals
Review

-4

|_l—I A girl goes to town to have tea and buy groceries.

Arrived at  Arrived at a
a café vegetable shop

Left home Caught a
bus

Left the fish  Arrived at a
market fish market

Left town
by bus

Came
back home

o How many minutes did it take from when she left home

to catch the bus?

Q How many hours and minutes did it take from when
she arrived at the vegetable shop until she left the fish
market?

It took | hour ‘and‘ 20 minutes ‘

9 How many minutes did it take from the town to her

house by bus?

0 How many hours did it take from leaving home to

coming back home?

|_2—I It is 10:20 now. Write the time points that shows the
following.
o |0 minutes after

Itis.

e |5 minutes after

Itis.

6 45 minutes after

Itis.

o |0 miutes before
Itis .

o 20 minutes before
Itis .

o 30 miutes before

Itis.

o | hour after 0 4 hours before

Itis. Itis.

|_3—I The following tape diagram shows hours in a day from
12:00 a.m.

A B ﬁ i
‘ l | 2 3 45 6 7 8 9 10 Il 12
| []
01 2 3 45 6 78 9 10 Il 12 0
Noon

o What are the time points to A, B, C, and D using a.m.
and p.m.?
(a) Time pointA

(c) Time point C

(d) Time point D
@ Fillin the blanks

(a) Aday equals hours. (b) 24 hours equals m day.

(b) Time point B

47
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48

< [EzmlB How many [l are there? Write the number

Numbers Greater Than 100
How to Express Numbers

6-1

&

and read it.

There are 2 groups of a

hundred. ltis called two
I hundred.
[e]

There are 3 groups of a

ten. Itis called thirty.
@H There are 5 ones. It is
Hundreds Place Tens Place Ones Place, called five.
So, altogether it is called

two hundred thirty-five.

Two hundred thirty-five

How many [l are there? Write the numbers and read them.

0
Hundreds Place Ones Place Hundreds Place Tens Place Ones Place

One hundred fifty-three Three hundred fourteen

When there is nothing in

S
W
0 the tens place, write “0”. /

o0
o
I
Hundreds Place | _Tens Place | _Ones Place Hundreds Place | _Tens Place | _Ones Place

Four hundred twenty-nine Five hundred six

<*EEIE . Write the number in the| .

Numbers Greater Than 100
Structure of Numbers

(6-2

o 4 hundreds, 8 tens, and 5 ones B | Bs
together make . T T Tel e

e 321 is made of undreds, g .
tens, and| | |ones. mm Y T

Write the numbers in the[ |.

o 2 hundreds, 3 tens, and 4 ones B @ ED

together make . mm Ye
@ 3hundreds, 5 tens, and 7 ones together make .

o 5 hundreds, 8 tens, and 3 ones together make .
0 6 hundreds, 7 tens and O ones together make .

e 432 is made of hundreds, :| E i
tens, and ones. mm T
O 25is made of hundreds, tens, and ones.
o 870 is made of hundreds, tens, and @ ones.
o 709 is made of hundreds, E tens, and E ones.

49
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Numbers Greater Than 100
L 6 = 3 Finding the Numbers on the Number Line)

<»[3ZnE Write the numbers in the |:| .

o 380 390 410 420 440 450
1 1 1 1 1 1 1 1 1

e 0 200 300 400 500 600 700 800

[100] [280]  [470] [630] 7qo;

Regarding to the above @) and @), the smallest tick marks show
units of 10. Once we find what is the smallest tick mark, we can

find the numbers on the number line easily.

I_l—l Write the numbers in the |:| .

O » = 284 23 237 239

98 499 501 502 m soe 505 | 900

e 1 1 1 1 1 1 1

e 70 795 805 815 820
1 1 1 1 1 1 1 | |

O |59 515 w0 s 5% 605 610
I P e R S S

3
|
0
|

|_2—| Write the numbers in the |:|

o 0 100 300 400 500 600 700 800 900
[200] [350] [520] 780
e 0 100 200 300 400 500 600 700 800 900
[ 50 | [270] [440] [670]
9 \\u\\\\u\\\\\3\(\]?\\m\\\\\u\\\\\\5\(\)?\u\\\\\\\\\\\u\7\(\)?”mm\mmﬁ)(\)u
[220] [410] [560] 820
o ‘f??"m‘MT\HH\MS‘(\)?M\HH\mmm?%?m\""\Hmms‘l\‘?mmfu\uu
[490] [505] [530]  [547]
o | I 6§0 I | I 7(\)0 I | I 7%0 I | I 74\0 I
900 950
o [N T FUUER VY N SUURUEUTTE FUUTY Y RN SUUTE FUUTE FUUTY Y I S|
I 1 I i
[ 880 | l898] [914] [932]

p ﬁ N ‘We must find out what the smallest tick marks shows.

14
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Numbers Greater Than 100 Numbers Greater Than 100
L 6 = 4 One Thousand (1000) 6 -5 Addition with Tens and Hundreds |
<»[FEL3 The number of 10 hundreds is called 1000. <=3 Calculate the following addition problems.
1000 is shown in the number line as follows:
0 100 200 300 400 500 600 700 800 900 1000 4
© 0+80=
o How many 100s are there in 1000? . There are | | bundles of ten, so, the answer is | | 0.
‘ o
What is the number that is 100 less than 1000? ———
(2 @ 300 + 200 = | 500 | |&Z :
Answer the foIIowing questions. There are 5 bundles of one hundred, so, the answer is 500.
@ How many 10s are there in 1000? |_I—| Calculate the following addition problems.
Q How many more does 900 need to make 1000? 0 30 + 90 = e 50 + 80 =
0 What is the number that is 400 less than 10007 0 50 + 60 = m G 60 + 70 =
@ Whatis the number that is 200 less than 1000? O so+60= ® 80 +9 =
© Whatis the number that is 70 less than 10002 | 730 @ 20+80= © 0+90=
o What is the number that is 10 less than 1000? I_2—' Calculate the following addition problems.
o What is the number that is | less than 1000? m 0 300 + 100 = 9 300 + 400 =
0 100 200 300 400 500 600 700 800 900 1000 © 200 + 700 = O 400 + 400 =
| = =
S © 100 + 600 O 20 + 400
ahis mamber tine |01 P R P P PP ‘°w°°} @ 100+80= © 200+60= |20
when thinking o
about |000. Think about how many bundles of ten there are. L
52 53
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Numbers Greater Than 100
L 6 = 6 Subtraction with Tens and Hundreds)

<w[3&n Calculate the following subtraction problems.

There are |2

. bundles of ten.
% Subtract 3

} bundles from
{12 bundles.

There are 6
bundles of one
hundred.

\ Subtract 2

¢ bundles from 6
bundles.

Calculate the following subtraction problems.

© 0-3=[8] @ 120-50=[70
© 50-¢60=[] @ 1o-7=[4
O m-90=8]| @ 4-8=
@ 0-%=[30| @ i80-%=

|_2—I Calculate the following subtraction problems.

© 600 — 300 = @ 500 — 100 = | 400
© 700 - 500 = O 500 - 200 = | 300
© «0o0-300=]100] @ 80-300= [50]
@ 1000-600=400] @ 1000200 =800 ]

1000 has |0 bundles of one hundred. Subtract 6 bundles from |0 bundles. <\ /%

54

Numbers Greater Than 100
L 6 - 7 How to Express Numbers

<»[3&nIE Compare the following two numbers and write
the appropriate sign ( < or > )in the|:|.

O «i2] > |98 (2] 4\255

This means that 412 is This means that 412 is
greater than 398. less than 455.

390 400 410 420 430 440 450 460
i + t
398 412 455

If you look at the number line, you can find the answer easier.

Compare the following two numbers and write the appropriate
sign (< or > )inthe[ |.

O 0 390 O 0 | <] 0

O 300 188 0 s 729
0 2 323 0 40 389
Q 23 124 0 400
O 503 499 © 852 842
O o8 687 ® 3% 404

55

Numbers Greater Than 100
L 6 = 8 Making Numbers

<»[3ZnE There are three number cards below. Make the
following numbers by using these three cards.

@ The largest number | 742 |, Thelargest ﬁ

number card is 7.

e The smallest number So, it will be 7 * *.

There are three number cards below. Make the following
numbers by using these three cards.

o The largest number 853
e The smallest number 358
e The second largest number 835
Q The second smallest number 385
e Numbers that are larger than 500 Can you find
all four
| 538 || 583 || 835 || 853 | e

Numbers that are smaller than 500

There are two numbers

altogether.

56

Numbers Greater Than 100
6 = 9 Review

|_1—| Calculate the following problems.

© 0+90= @ 50+70=
© 60+50= O 300+ 500 = | 800
© 200 + 700 = 900 0O 70-8=
@ 10-90= 50| © 150-70=
© 700 - 400 =[ 300] @ 1000 - 800 = 200]

|_2—I Compare the following two numbers and write the
appropriate sign ( < or > )in the|:|.

0 37 289 0 465 565
O 7 576 0 3509 853
0 732 0 57 589

|_3—| There are three number cards below. Make the
following numbers by using these three cards.

o The largest number

@ The second largest number 723
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Addition and Subtraction
Addition Algorithm (1)

s | |Hundreds| Te Ones [Hundreds| Tens

(7-1

m Calculate 72 + 63 by using the algorithm.
[Fnres] Tens [Ones|  [rundeds] Tens [Ones Line up the numbers
Illllll vertically in each place. | |

! Calculation of the ones e
+ 63| |

place e o

2+3=5 [Funges] Tens [ one

Tens
—F

|Hungreds| Tens | Ones Hundreds| Tens | One

0

+

0 N
oo — 3ff

B~
— ]

+
N ofs

© w0 —f

o
2
2
o
3

F()3|2|(§:eulation of the tens q 5 4 8 5 3
s 7+6=13
[untets] Tens [Ones | [Huntete] Tens [Ones Write a 3 in the tens + 5 3 + 7 | + 8 2
72 | M. P | 48 19 135
1 egroup | to the
+ l hundreds place.
6 3 I|I|I| & Write a I in the hundreds o |Hundreds| Tens | Ones o Hundreds| Tens | Ones @ Hundreds| Tens | Ones
place.
135 Wl 6 8 4 60
L —— 72 + 63 =135
+ bb + 93 + 76
Calculate the following problems by using the algorithm. | | 6 | 7 7 | 3 6
1 (2] o (12 ®
|Hundreds| Tens | Ones Humrsﬁs‘ Tens ‘Ones Hundreds| Tens | Ones: Hunmﬂs‘ Tans‘ones Hundreds| Te Ones Hundreds| Tens | Ones |Hundreds| Tens | Ones

. 84| WM. 63 38 88

W, -
mi | 47 HE 125 109 150

o
w

+
Ol
o1l w N

58 59

Addition and Subtraction

7 = 2 Addition Algorithm (2) ) prtes Tene | Ones S o [
} 77 938
<»EE010 Calculate 83 + 49 by using the algorithm. B gl INCEEE 1rora - o

N U _ + 88 + 38
"\ Dontforgettowritea |. | ine up the numbers vertically

ﬁh m&m in each ;.)Iace. | 6 5 I 3 6
A \Calculatlon of the ones place \

| 3+9=12 (5 0 (7]
d3+9=(02 |Hundreds| Tens | Ones |Hundreds| Ones Hundreds| Tens | Ones

Regroup | to the tens place.
\Calculation of the tens place \

+
M~ 00
NHQ G|

wW | 00 O1
+
3|3 O ¢
J
+

5
79
3

7
The regrouped | and 8 make 9. + 4
9+4=13 | 2

Or
3 SO
+ 4 i erte a 3 In the tens place o |Hundreds| Tens | Ones o Hundreds| Tens | Ones @ Hundreds| Tens | Ones
3‘ 2 Write a | in the hundreds place. | 6 7 8 4 q

- 9 =132

¥ 83 + 4 13 + q 8 + 8 7 + 7 6
Calculate the following problems by using the algorithm. | | 4 | 6 5 | 2 5
(1] (2] o (12 ®

Hundreds nes |Hundreds| Tens | Ones: Hundreds Ones Hundreds| Tens | Ones |Hundreds| Tens | Ones

O
o
o

5+qj [\+q+5L’ q+3]

+
W/~ o0z
~ 0 01

+

o1
N | w0 §

+
M~ o

~

+

o1

o)

+
wWlw o

w

60 61
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62

1

Line up the numbers vertically

= in each place.
6 8 847+ \Calculation of the ones place \
+ 307 8+7=15
Regroup | to the tens place.
e \Calculation of the tens place \
é 8 The regrouped | and 6 make 7.
L2 =00 7+3=10
+ 3 ! Write a 0 in the tens place.
[Q 5 Write a | in the hundreds place.

68 + 37 =105

Calculate the following problems by using the algorithm.

o furdes| Tens [Ones o uniets| Tens [ Ones

(e | Lo @},2 U
+ 84 t 716
10| 105

0 |Hundreds| Tens | Ones o |Hundreds| Tens | Ones 0 |Hundreds| Tens | Ones

7 68 49
+ 2 36 + 5|

N O W
+

Addition and Subtraction
Addition Algorithm (4)

~[3E0HE  Calculate 437 + 6 by using the algorithm.

Line up the numbers vertically

- in each place.
437 .
7o \Calculatlon of the ones place
+ 6 T+6=13
Regroup | to the tens place.

\Calculation of the tens place \
The regrouped | and 3 make 4.
Write a 4 in the tens place.
Write a 4 in the hundreds place.
437 + 6 = 443

Calculate the following problems by using the algorithm.

o[ﬂ Tens [ Ones | 6 [Fundress] Tens ones

387 7L,

6 + 9
393 2538

o |Hundreds| Tens | Ones o |Hundreds| Tens | Ones 0 |Hundreds| Tens | Ones

864 566 267
+ 8 + 6 + 7

+

63

64

Addition and Subtraction
W = cE) Addition Problems (5) J

<m Calculate 719 + 33 by using the algorithm.

Line up the numbers vertically

@L in each place.
71 ﬁ §+3= \Calculation of the ones place \
+ 38 9+3=12
Regroup | to the tens place.
g \Calculation of the tens place \
"";“ T °q The regrouped | and 3 make 4.
196 4+ 1 =5
+ |3 ?Q Write a 5 in the tens place.
T 7 3{ Write a 7 in the hundreds place.
719 + 33 = 752

<»[EEnE There are 47 red ribbons and 89 white ribbons.

Calculate the following problems by using the algorithm.

o undeds] Tens [Ones Huntress] Tens [ Ones

+

[
0 |Hundreds| Tens | Ones o |Hundreds| Tens | Ones 6 |Hundreds| Tens | Ones

545 315
27 + 66

63
+ 4

o100 3
+

Addition and Subtraction
Addition Problems

How many ribbons are there altogether?

4

y
Math 47 + 89 = 136 4.7
Sentence + 8 9
Answer ribbons | 36

1! My friend has 56 pieces of paper. Later, he bought 67
pieces of paper. How many pieces of paper does he
have altogether?

Math —
Math | 56+ 67 =123 56
+ 1617
Answer pieces of paper [ 1213

2! 75 boys and 35 girls participated in the school festival.
How many children participated in the school festival
altogether?

Math 75 +35=110

Vath 715
entence + 3 5
110

Answer children |

3! Iread |24 pages of a book yesterday. | read another 37
pages today. How many pages did | read altogether.

Sentence + 3

Math 124 + 37 = 16| | 12]4
7
|

Answer pages | 16

65
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Addition and Subtraction Addition and Subtraction
Subtraction Algorithm (1) Subtraction Algorithm (2)
<»EE0LL0 Calculate 125 — 63 by using the algorithm. <»[3EngiE Calculate 163 — 79 by using the algorithm.
i e [ Line up the numbers vertically in each e [ Line up the numbers vertically in each
| 25— place. place.
- 63 [Calculation of the ones place | | 6.3 6= Calculation of the ones place
- 5-3=2 - 79 You need to regroup from the tens
@ - = place.
. \Calculatlon of the tens place \ 13—9 =4
R o You cannot take 6 from 2, so you need Write a 4 in the ones place.
2 to regroup from the hundreds place. \Calculatlon of the tens place \
12—-6=6 Since you regrouped, it became 5.
*%2 ! ; You need to regroup from the hundreds
~ 63 Write a 6 in the tens place. place
*E 5 There is nothing in the hundreds place. ’ I5—7=28
125 — 63 = 62 Write an 8 in the tens place.
There is nothing in the hundreds place.
163 — 79 = 84
Calculate the following problems by using the algorithm.
o — 6 — Calculate the following problems by using the algorithm.
2 5 o [Hungreds] Tens | Ones o |Hinfies| Tens [Ones
12-5 L-Q 5 5-3 15-17 I 5 4< 4-3 | é é | 43_ 2
_ 5 3 — ’7 3 \5—5_>8 q< 13-9 \375_>5 4< 12114
72 8] 74 88
0 [Huncreds] TTZ: Ones 0 | Huncreds| TT\“ Ones. 9 [Hundreds] TH Ones e [Hunreds] Tens | Ones 0 [tundeeds| Tens Dn/es e [Hundreds| Tens On:s
128 I 19g 13 | 45 | 34 150
- 31 - 96 - 83 - 86 - 47 - 8¢9
97 23 30 59 87 6 |
66 67
Addition and Subtraction Addition and Subtraction
Subtraction Algorithm (3) ) IW = ﬂ@ Subtraction Algorithm (4) )
<»EE010 Calculate 104 — 37 by using the algorithm. <»[EEngia Calculate 282 — 6 by using the algorithm.
e Line up the numbers vertically in each e L:ne up the numbers vertically in each
lace. place.
Q4 P
- 37 \Calculation of the ones place 2 8% 12-6=@ \Calculation of the ones place
You cannot regroup from the tens — You need to regroup from the tens
lace, so you need to regroup from the lace.
e 4 Eundreds%lace first. aresp P ) ) 12-6=6
fu s Then, you need to regroup from the 3 Write a 6 in the ones place.
AN g é;m—v: tens place. h—7=7 EREE |Calculation of the tens place |
- - —={9) Since you regrouped, it becomes 7.
\C.alculatlon of the tens.place \ 2 &QL Write a 7 in the tens place.
mm; 0‘; Since you regrouped, it becomes 9.
o] | 9-3=¢ - 6 » Then, write a 2 in the hundreds place.
W04 25 Write a 6 in the tens place. 7] 44
- 37 There is nothing in the hundreds place. 1 6 282 — 6 = 276
6] 7 104 — 37 = 67
Calculate the following problems by using the algorithm.
Calculate the following problems by using the algorithm. 0 e Q —
o [funtet Tens [ones e [fnet] Tens [ones 7402
\Oc o \CQ 3 2 8 2
9-7 L-O 6 16-8 9-5 I O 3< 13-6 ’7< =~
- 78 - b6 iG
238 4.7
0 [Furged] Ter z Ones. 0 [Furdeds] Te s [ones e e T [ores e ] T O‘nu o [Funcess] T-BM 0‘1\:; 0 ] T O‘nu
104 102 [ 01 567 892 764
- 65 - 47 - 549 - 9 - 5 - 6
39 55 4.2 558 887 758
68 69
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Addition and Subtraction
W = ﬂﬂ Subtraction Algorithm (5)

<SEE00 Calculate 271 — 34 by using the algorithm.

oo o, Ve Line up the numbers vertically in each
. place.
2 V\E 11-4=0 \Calculation of the ones place
- 3 You need to regroup from the tens
place.
I =4=17
8 Write a 7 in the ones place.
Pt s [oree \Calculation of the tens place \
Since you regrouped, it becomes 6.
2 Yl 6-3=3
_ ‘ 34 Write a 3 in the tens place.
- Then, write a 2 in the hundreds place.
7 271 — 34 = 237

Calculate the following problems by using the algorithm.

<»[3E0IE There are 126 students in my school. Today 38

Addition and Subtraction
IW = ﬂ@ Subtraction Problems

students are absent. How many students are in
my school today?

Math e P 4 | 26
Sentence | 20 — 38 =88 _ 3 8A,
Answerstudents 88

1! My sister had 138 pieces of paper. She used 45 of
them. How many pieces of paper does she have now?

Math e 1318
Sentence | |38 745 =93 _ 415
Answer pieces of paper g 3

I_2_‘ My father had 183 stamps. He sold 97 stamps. How

O === (2 J— many stamps does he have now?
6 36 Math _
27 546 S:ntence 183 — 97 = 86 — | 2 :;
64— ~i-5 32— ~i6-1
— 45 - 27 Answerstamps 816
226 519 |3 There are 633 books in the school library. Now 28
e o 9 books are checked out. How many books are in the
[untes] ens [ one: ] Tens o‘n;: [Funges] T-:s o-:‘ Iibrary now?
443 362 670 Math | 633 - 28 = 605 63,3
- 29 - 47 - 56 - 128
ARRYA 315 61 4 Answerbooks 6 0H
70 71
7 13 Addition and Subtraction 0 145 — 87 0 136 — 49 o |75 — 98
Review | 14]5 1136 1[7]5
I_l—' Calculate the following problems by using the algorithm. - 87 - 419 - 918
58 8.7 7.7
@ 67 +4l @ 53+84 @ 3x%+170
617 53 34 @ 102-7 O % -3 © 545 -27
+ 4 + |84 + 70 [To]2 ql6l] 51415
| 08 | 137 1104 — 716 _ ] — 207
2.6 953 5|18
O 79+53 O s6+76 0O 97+89
719 ]816 97 13! Answer the following questions.
+ 53 + 76 + 8 9 o In my classroom there are 54 students. In the next
11312 1162 11816 classroom there are 47 students. How many students are
there in the two classrooms?
@ 867 +4 O 639 + 37 © 48+ 24
Math B4 + 47 = 10| 54
8167 61319 4218 Sentence + 417
+ 87 4|' + 6 3 Z + n g g Answerstudents [ 10] |

72

I_z" Calculate the following problems by using the algorithm.

@ 139 - 64 O 117146 ® 179-9
| 319 [ 117 11719
- 64 - 46 - 95
715 7)1 84

o There were |24 people in the national park today. 58
of them went back. How many people are there in the
national park now?

Math T |
Sentence 124 — 58 = 66

Answer people

73
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Capacity of Water
8 - 1 Litre

- J

<eInstruction

There are some containers. Which can hold more water?

ﬁ The plastic bottles are different size.
¢ ©  Can we compare?
The amount of liquid that can fit in a container
is called the capacity. | Litre( | L)

To compare the capacity of a container, use a tai
gag standard container, like | L. container

é

Measure the capacity of water that the container
holds.

ILILILILIL

74

Capacity of Water )
L 8 - 2 Decilitre )

<»[(3=n 1 Measure the capacity of water in a plastic
bottle using a | L container.

'L When you divide | L
into |0 equal parts,
each part is
| Decilitre(| dL).

IthaslI|L IL=10dL

1! Measure the capacity of water that the following items
hold using a | L container.

(1) L IL
m Ii T
e L IL IL IL
y 4 | | S5t

<»[3Zn;o2 Measure the capacity of water that the water
container holds using a | dL container.

I dLldLldLldLldL
7
J ERNEE -

2! Measure the capacity of water that the container holds
using a | dL container.
IdL | dL 6 | dLl dL! dL! dL

B at

75

Capacity of Water )
L 8 -3 Millilitre )

<= 305 Measure the capacity of water in a cup using |
dL container.

IdLIdleleL

dL When you divide | dL
i into |0 equal part,
each part is
ﬁ 10 Millilitres(mL).
It has 350 mL. I'dL = 100 mL
I 'L = 1000 mL

1! Measure the capacity of water that the following items
hold using a | dL container.

0 | dL | dL e‘ I dL | dL

fmm- © Wl

o I dL|dLIdL 0 | dL

Pl L Ee

|_2—I Match the same capacities with a line.

dL

76

Capacity of Water )
L 8 - 4 Units of Capacity (1) )

<» (301 1 Place the appropriate units in the blanks.

o The amount of water
in a plastic bottle

6 The amount of water
in a plastic tank

e The amount of water
in a milk bottle @

<» (322 Which container holds about 1000 mL?

o Bottle 0 Kettle

Bottle |holds about
1000 mL.

I_‘I—I Place the appropriate units in the blanks.

0 The amount of water
in a plastic bottle 1000

@ The amount of water ‘fi 5

in a cooking pot {

o The amount of water =
in a milk bottle H 2

I_z—' Which container holds about 1500 mL?
@ Wik bottle @ cuw @ Plastic bottle
-

A - =

7S

Plastic bottle | holds about 1500 mL.

7
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Capacity of Water )
L 8 B 5 Units of Capacity (2) )

(1) |L=dL
@ ooom= 1L

(3 |00mL=D{L

~[3Z0E  Fill in the blanks with numbers.

I L I dL

Fill in the blanks.

(1) 2L=dL

© sL=[150]a
(5 ) 40dL=L
© 20a=] 12 L
© soomi=| 5 |u
@ q0mL=| 9 Ja
® 1300mL=] 13 |dL

(2] |0L:dL
O 31 =[3000|mL
0O 50.=| 50 |mL
O 18aL=[I800|mL
® 700mL =] 7 Ju

@ 1000mL =] 10 JaL
@ 2500mL =] 2 |aL

Depending on where you live, another unit is
familiar such as Centilitre, cL.

leL = 10mL

100cL = I L

So, | L= 10dL = 100 cL = 1000 mL

Let’s find out the kinds of units of capacities
around you.

Capacity of Water )
L 8 - 6 Addition and Subtraction of Capacitiesl

<» 3= How much do these two bottles hold altogether?
What is the difference in capacity?

IL5dL+5dL=L

IL5dL—5dL = L

IL5dL 5dL

Calculate the following.

(1) 2L+5L=L (2] 3dL+6dL=|Z|dL
(3] 3L6dL+2L:L|Z|dL

O L7a+sda=] 2 L] 5 a

© 500mL + 350 mL = | 850 | mL

O 250mL+ 1L50mL = | |L]750 |mL

(7) 7L—4L=L (8] 6dL—2dL=dL
© «rso- L= 33 |a

(10} 2L3dL—4dL=|I|L|Z|dL

@ 1000mL - 350 mL = | 650 | mL

® 20250mL - 750mL=[ | |i[500 |mL

80

Capacity of Water
8 - 7 Review

|_l—' Match the same capacities with a line.
o I'L
i oo 500mL

e | dL | dL | dL

] =
e = | dL

[N
|_2—I Which container holds about 1000 mL?
o Water tank e Mug

P

5%

ese Prr
| ]

L]
Milk carton |holds about 1000 mL.

© 5L =5000|mL
O L2400 =]1200|mL

0O 130mL = dL
I_I'—I Calculate the following.

O st+2t=5 L @ 12L-3L=[9 L
© L+2u500m=] 3 [L[500 |mL
O 1100mL - 400mL = | 700 | mL

@ Wik carton
—

13! Fillin the blanks.

O L= |a
© oa=[3 |
© oom=| I L

Triangles and Quadrilaterals
@ = ﬂ Straight Lines

< Instruction How to draw a straight line using a ruler

I. Place and hold the ruler|2. Draw a line to connect
under the two points. the two points. 4,
A [ B

INEEEN]

<»[3ZnJE Bound the following pair of points to draw lines
by using a ruler.

@ a8 G‘CD ©® EF

A_| BF F
[t tumnsd]
C ‘When you draw a straight
E line, make sure to press
D the ruler firmly.

Bound the following pair of points to draw lines by using a
ruler.

@ A @ co © EF
B

A E
C D
F
Oci ®O©u O K
G L
I
H J K

81
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@ 2 Triangles and Quadrilaterals

Finding Triangles and QuadrilateralsJ

<»[3Zn7{E Connect the dots to enclose the same animals
into groups. Separate the resulting shapes into
two groups.

(a) (b)

<
TS« Th<

(c) (d)

Yy

TN, @
Group of A and
Group of l:l and

Connect the dots to enclose the same animals into groups.
Separate the resulting shapes into two groups.

(a) (b)

Group of A , and

<»[3&nrIE  Answer the following questions.

Triangles and Quadrilaterals
@ = @ Triangles

< Instruction| Triangles

«—vertex— | side vertex
side side
side
vertex T vertex ——

side

®  Each straight line that makes a triangle is called a side.
® Each point where the sides meet is called a vertex.
® Triangles have 3 sides and 3 vertices.

f : It’s not triangle. P ﬁ %

o How many vertexes does a triangle have?

@ Find the triangles. vertexes.

(0] o o

I_I—I How many sides and vertexes do triangles have?

Triangles have sides and vertexes.

2—I Find the trlangles
s oo o o] <l
® A closed shape made of three straight lines is called a triangle. W
® A closed shape made of four straight lines is called a
quadrilateral. ), (c), and (e) |are triangles.
82 83
Triangles and Quadrilaterals Triangles and Quadrilaterals
-4 - -5 :
Quadrilaterals ) Right Angle )
< Instruction| Quadrilaterals < Instruction Make a right angle by folding a piece of paper.
vertex side vertex— side vertex - = The shape of the corner
. / . that is made by folding paper
side side side 4‘ R ;m is called a right angle.
See if the shape of the corner of your notebook has a
vertex S~ vertex — side  vertex right angle.
d Lif’ % Quadrilaterals have 4 sides and 4 vertices. Place the paper onto the corner of your notebook
to check if they are the same as each other. ﬁ
H This is not a quadrilateral. \';;)
<» (3= Which of the following has a right angle? Find a
right angle by placing the folded paper.
<»[FEnE Answer the following questions. (b) ©
o How many vertexes does a quadrilateral have? /\ i
@ Find the quadrilaterals. vertexes. . has a right angle.
. - ./ drilateral. Place the folded paper onto the shape and check if they
IS quadrilatera match each other or not. =~
l_1—' How many sides and vertices do quadrilaterals have? Which of the following is a right angle? Find a right angle by
Quadrilaterals have sides and vertexes. placmg the fOIded paper.
1_2—I Find the quadrilaterals.
&> ® 4 /o] 0 L \ v
(a) (d), (e), and (f) are quadrilaterals. b) and (d)
84 85
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<vInstruction. Make a rectangle by folding a piece of paper.

<»[3&n2 1 Find the rectangle.

Triangles and Quadrilaterals
Rectangles

9-6

O

]

- E--E-

A quadrilateral with four right angles is called rectangle.

This mark indicates a right angle. ﬁ .

)

i

l‘-

/g‘m How many right angles do they have?

<» (302 3 Draw a rectangle with 5 cm sides and 2 cm sides.

rectangle.
|_'|—I Find the rectangles.

_ ROl RN

o | <e DD

(), (), and ()

are rectangles.

<»[3€nJ5 2 Draw 2 rectangles by connecting the dots.

.

You can also draw a

¢ © rectangle inside of
another one.

The answer is not one.

I_z—I Draw as many rectangles as possible by connecting the

dots. I:::::I
U

I cm

Y I cm
L4

I_3_' Draw the following rectangles.

o with 2 cm sides and 3 cm sides
e with 3 cm sides and 7 cm sides | cm

Jo I em

86 87
Triangles and Quadrilaterals i
- W g <»[3EnJ5 2 Make a patterns by drawing |:| and . .
Squares
o This pattern is made by
m A . . () alternating black and
<wInstruction Make a square by folding and cutting a piece . Bu(g(he answer
of paper. * is not one.
M } [
4 1 ) | ;
» . i |_2 Make a patterns by drawing |:| and . .
) } The answer is not one.
ﬁ Fold a rectangular paper and cut it like above. Let's take a look at
“\LJJ® The mark indicates the lines are the same length the patterns made by
= friends.
A quadrilateral with four right angles and four equal sides is
called a square. <»EEnps 31 Draw a square with 4 cm sides.
r 1B I cm
<> 3= 1 Find the square.
,’ I cm
‘ ‘ (b) [is square.
- |_3—I Draw the following squares.
Find the square. . . . .
L q ‘ ‘ /\ 0 with 2 cm sides Q with 3 cm sides
@ with 6 cm sides | cm
© |
cm
(d) (3]
(d) and (e) |are squares. ‘ ‘
88 89
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Triangles and Quadrilaterals
@ = Right Triangles

<»Instruction What is a right triangle?

!

A triangle with one right angle is called a right triangle.

<=3 1 Find right triangle.

[ |
(b) T right triangle

(a)
1! Find right triangl
L] ght triangles.

(9)

/ (d)

(b), (e), and (g) |are right triangles.

<»[3En;is 20 Make a patterns by drawing Il and k .

The answer is not one.
Let’s take a look at the
patterns made by friends.

S :
|_z Make a patterns by drawing A and ‘ .

The answer is not one.
Let’s take a look at the -
patterns made by friends.

<» (3= 3 Draw a right triangle with 4 cm and 3 cm sides
that form a right angle.

I 'cm

I cm

|_3—I Draw right triangles with the following sides that form a
right angle.

0 with 4 cm and 4 cm sides that form a right angle
@ with 2 cm and 5 cm sides

0 with 3 cm and 6 cm sides I cm
A I'cm

‘/

LANSSRSLS

2 91
Triangles and Quadrilaterals |_l|—| Find the square.
= @ ”
@ Review \ \ \
1! How many sides and vertexes do triangles and (a)
quadrilaterals have? ()
Triangles have sides and vertexes.
(c)
Quadrilaterals have sides and vertexes. (a) and (f) are square
- . .
I_2_' Find the triangles and the quadrilaterals. (5 Findthe ”th triangles. |
®
d)
(o] ol /] et [ H
(b) -
G
EONEC mm
(a), (b), and (f) |are right triangles.
Triangles are (e) and (h) |_6—| Draw the following shapes on the grid below.
- A rectangle with 2 cm sides and 4 cm sides.
Quadrilaterals are| (b), (c), and () 0 N . .
e A square with 4 cm sides.
|_3—I Which of the following is a right angle? 9 A right triangle with 2 cm and 6 cm sides that form a
right angle. | cm
(a) (b) © (d) | om
(a) and (d)
92 93
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Multiplication- |
Meaning of Multiplication (1)

10-1

<»FEnlE Look at the following picture and answer the
following questions.

o How many oranges are there on the plates? oranges
e How many oranges are there on one plate? oranges
plates
0 There are . oranges onone plate and there are
plates. There are |2 oranges altogether.

In the above situation, we can make the following math
sentences:

&

e How many plates are there?

3 X 4=12

Look at the following pictures and answer the questions.

[ EEF [ O

o How many bottles are there in the boxes? . bottles

e How many bottles are there in one box? bottles
0 How many boxes are there? E boxes

Q There are bottles in one box and there are
E boxes. There are bottles altogether.

Multiplication-|
\1 0 = 2 Meaning of Multiplication (2)
< Instruction There are three oranges on a plate. There are
two plates. There are 6 oranges altogether.
You can write this using the following math

sentence.
AP B 1. 3516
Number of objects Total number of
in each group NSty G s objects

How to read: Three multiplied by two equals six.

This is a very important concept.

|1 Write the multiplication symbol.

X

<»[EEniE Write a multiplication math sentence for

calculating the number of wheels. ’
A

Math
&)&) sentence x
fgx
|_2—I Write multiplication math sentences for the following

There are two wheels on a bicycle. There are three bicycles.
problems. Math sentence

:WWW 3/x|3|=9

Math sentence

8 | X

95

96

J

Multiplication- |
Multiplication Facts of 5 (1)

<»[3Zn5 There are 5 onions on one plate. There are 2
plates. How many onions are there altogether?

Write a math sentence and find the answer.
802 8 an sl 5| [ 7] -
Five sweets are included in one box.
Write multiplication math sentences and find the answers.

jlbox
=
jj2boxes
= =
iij 3 boxes
= = =
oijjjmoxes
= = = A

There are 5 sweets in one box.
There are 5 boxes.

There are 5 sweets in one box.
There are 6 boxes.

There are 5 sweets in one box.
There are 7 boxes.

There are 5 sweets in one box.
There are 8 boxes.

There are 5 sweets in one box.
There are 9 boxes.

I [2[3[4]8]6][7][8]9] Thistable shows the
5 \ 10 \ 15 \ 20 \ 25 \ 30 \ 35 \ 40 \ 45 \ multiplication facts of 5.

X

X

X

X
]
w

X

X
Il
w
&)

Il
~
o

©0000
I
5][s][s][e][&][8] [5] [5] [-]

X

BHHB@H < [+ O

Il
&)

][] ]
X

X
5)

N
&

Multiplication- |
Multiplication Facts of 5 (2)

<»[F€niE There are b notebooks in one set. There
are 3 sets. How many notebooks are there

altogether?
,eee

Answer | |5

e | DX 3= notebooks

Read the following questions. Write the math sentences and
find the answers.

o There are 5 biscuits on one plate. There are 5 plates.
How many biscuits are there altogether?

biscuits

'é/l:r:rt]ence 5x5=25

e There are 5 pieces of cake in each box.
There are 6 boxes. How many pieces of
cake are there altogether?

’éﬂ:rt\rt]ence 5 X 6 = 30

e Five people are in each car. There are 4 cars. How
many people are there altogether?

Sentence | D X 4 = 20

0 There are 9 children. My mother will give 5 pieces of
candy to each child. How many pieces of candy does she
need?

Semtence | D X 9 = 45

Answer | 25

30 pieces of

Answer cake

Answer | 20 | people

45 pieces of

Answer candy
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JICA 24 _fR&ARER_P002-046. indd 25

25

2022/02/25

14:57:2




Multiplication- | Multiplication- |
Multiplication Facts of 2 (I) L1 0 = 6 Multiplication Facts of 2 (2)
<=»[3&n3 There are 2 onions on one plate. There are 3 <» (35 There are 2 pens in one set. There are 4 sets.
plates. How many onions are there altogether? How many pens are there altogether?

Write a math sentence and find the answer.

%@ Math sentence X =

A bicycle has 2 wheels. How many wheels are there?
Write multiplication math sentences and find the answers.

hSA::]?ence 2 X 4 = 8 |Answer| & | pens

Read the following questions. Write the math sentences and
find the answers.

o % | bicycle |I| @ There are 2 donuts on one plate. There are 7 plates.
9 How many donuts are there altogether?
Slodie 2000
- - Math

Sentence 2 X7 =14 Answer | |4 | donuts

O There are 2 fish in each tank.

o There are 5 tanks. How many fish are there

4 bic yc es
g:é?ence 2xXxb5=10 Answer | | Q | fish

There are 5 bicycles.
How many wheels are there altogether?
There are 6 bicycles.
How many wheels are there altogether?

(5]
(6]
@ There are 7 bicycles.
(8]
o

Il

O There are 2 computers on each desk. There are 9
desks. How many computers are there altogether?

How many wheels are there altogether?
There are 8 bicycles.
How many wheels are there altogether?
There are 9 bicycles.
How many wheels are there altogether?

g:,']?ence 2X9=18 Answer | |8 | computers

0 There are 3 boats. Two people are in each boat.
How many people are there in the boats altogether?

[x[1]2[3[4]5]6]7][8][9] Canyousaythe ﬁ -
[z 4 e e 0] 12] 1] 16[ 18] famzxaensos “ 5" Sence | 2 X 3 =06 | Answer| 6 | people
98 o

Multiplication- |
Multiplication Facts of 3 (1)

Multiplication- |
1 0 = 7 Multiplication Facts of 5 and 2

J

l_1—' The following tables show the multiplication facts of 5 <»E=ml There are 3 eggs in one basket. There are 4
and 2. Write the numbers in the [ ]. baskets. How many eggs are there altogether?
X | 2 |3 |4 |5 |6 7]|8]|49 erte a math sentence and find the answer.
5 | 5 | 10| 15]20|25|30 |35 |40 |45 @
224 68 0]2]14]16]18 %.& Mathse”teme. [4]=
=Gzl Caleulate the following multiplications. There are 3 sweets in one box. How many sweets are there?

Write multiplication math sentences and find the answers.

- =16 o

0 s5x7 O 2xs 0 | box 3 x[1]
You can do @), ©, @ Hide e mm E men

I_z—l Calculate the following multiplications. the answers and practice - 2 boxes

them again and again.
05X3= @ 0 nen 3boxes
® s5x7=

0 5x5-[3] IS

4 boxes
@ s5x2= Esv?ﬁaﬁ;iv?egt?;?: there altogether? X -
o 5 X | = E

Il
NN — —

X

X

There are 6 boxes.
How many sweets are there altogether?
Os5x6= ® 2x6= ;:\zrr:aﬁ;i;egg):s there altogether?
®s5x8= ® 2x3= E Egﬁl:ai;esv?egg):es there altogether? x
® s5x4= DO 2x9= Egmell;ﬁaﬁ;esvje:tts»;?: there altogether? * E
®5><9= ®2><8= x[1]2[3]4]5]6][7]8]9] Lets have a problem with friends,

3 ‘ 3 ‘ 6 ‘ q ‘ IQ‘ \5‘ \8‘2\ ‘24‘2’7‘ like “what is the answer to 3 X 57"
100 101

©0000

1]
3

,
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:
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Multiplication- |
Multiplication Facts of 3 (2)

10-9

<> 305 There are 3 bottles in a box. There are 5 boxes.
How many bottles are there altogether?

= /

lod
Math 3 X 5 =15 |Answer| |5

Em Em Sentence

Read the following questions. Write the math sentences and
find the answers.

bottles

o There are 3 apples in a basket. There are 6 baskets.
How many apples are there altogether?

Math ol 3 X 6 =18 Answer | |8 | apples
Q There are 3 pencils in each case. There are 7

cases. How many pencils are there altogether?

g':rt]?ence 3 X 7 =2]| Answer | 2| | pencils

9 There are 3 bulbs planted in each pot. There are 9 pots.
How many bulbs are planted altogether?

3 x9=27

Math
Sentence

Answer | 27 | bulbs

Q There are 8 children. | will give 3 pieces of candy to
each child. How many pieces of candy do | need?

3 X 8=24

Math

Sentence 24 pieces of

Answer candy

Multiplication-|
Multiplication Facts of 4 (1)

10-10

<»[EEn[E There are 4 eggs in a basket. There are 3
baskets. How many eggs are there altogether?
Write a math sentence and find the answer.

_ Math sente”Ce * - @

Atruck has 4 tires. How many tires are there?
Write multiplication math sentences and find the answers.

o @: | truck 4
4 a\:a:,ztmcks
Y r—
© anananal [

4 trucks

J

X

X

X

X

There are 5 trucks.
How many tires are there altogether?
There are 6 trucks.
How many tires are there altogether?
There are 7 trucks.
How many tires are there altogether?
There are 8 trucks.
How many tires are there altogether?
There are 9 trucks.
How many tires are there altogether?

X
]
~

X
]
[

X
]
w
&)

Il
w [SHENNEENNY —
o o N

©0000

X

Bﬂ!@ﬁﬂ! ois

‘X‘ | ‘2‘3‘4‘5‘6‘7‘8“7‘ \I/r\\/;hegroup.letl']shaveaproblem. ﬁ
‘4 ‘ n ‘ 8‘|2‘\6‘20‘24‘28‘32‘36‘ hs(;canglvetecorreccanswer ALl

2|
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Multiplication- |
Multiplication Facts of 4 (2)

10-1

<» 301 There are 4 rolls of toilet paper in one set.
There are 5 sets. How many rolls of toilet
paper are there altogether?

A I rolls of
Mty | 4 X 5= 20 |Answer | 20 | BIEF

Read the following questions. Write the math sentences and
find the answers.

@ There are 4 chocolates in a box. There are 6 boxes.
How many chocolates are there altogether?

4X6=24

Math
Sentence

Answer | 24 | chocolates

9 There are 4 eggs in each package. There are 4
packages. How many eggs are there altogether? v

4 X 4=16

Math
Sentence

Answer | |6 | eggs

0 There are 4 students in each group. There are 9
groups. How many students are there altogether?

4 x 9 =736

Math

Sentence Answer 36

students

0 | bought 8 packages of batteries. There are 4 batteries
in each package. How many batteries are there
altogether?

Math
Sentence

4 X 8 =32 Answer | 32 | batteries

10-12

1—I The following table shows the multiplication facts of 2
and 3. Write the numbers in the |:| .

X | 2 3 4 5 6 7 8 9

2 2 4 6 8 | 10| 12 14] 16| 18

3|3 6 9 | 12| 15| 18| 21| 24| 27

Multiplication- |
Multiplication Facts of 2 and 3

1)

~[ZEnriE  Calculate the following multiplications.

Q 2x7=]14] 03><8=

You can do @), ©, ©-

I_2—' Calculate the following multiplications. Let’s practice them until
you can say them smoothly.

© 2x3=[5¢]
© 2x7=[14]
(5 ) 2><5:
(7] 2><2=
(9 2><|:
(1) 2><6:
® 2x8=[1s]
® 2x4=[38]
® 2x9=[15]

@ 3x4=|12
03><| Q

O 3x5=

(5 3><7=
® 3x2=[¢]
@ 3x6=[15]
D 3x3=[7]
(16) 3><q:
® 3xs=[2]
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Multiplication- |
1 0 = 13 Multiplication Facts of 2, 3 and 5

1—' The following table shows the multiplication facts of 2, 3
and 5. Write the numbers inthe [ |.

I 2 (3|4 |5 |6 |7]|8]|9
4 6 | 8 |10 12]14]16] 18
6 | 9 |12 15| 18|21 |24 |27
10| 15]20 25|30 |35 |40 | 45

X
2
8
b

o W N

2—I What can we find from the above table showing the
multiplication facts of 2, 3 and 5.
You can find a very
interesting fact!

When each result of the multiplication facts of 2 and

3 are added, these additions become the result of

the multiplication facts of 5.

I_S—I Calculate the following multiplications.

ax1=2] @ 5x5=[2] @ 3x1=[3]
3x2=6] @ 2x2=/4] @ 5x3=[I5]
5x4=[20] @ 3x3=/9] @ 2x3=[¢|
sx2=[10] @ 2x4=/8] @ 3xs=[12]
2><5= ®3><5= ®5><|=

@6 0060

Multiplication-|
1 0 = 14 Multiplication Facts of 2 and 4

I—' The following table shows the multiplication facts of 2
and 4. Write the numbers in the [ |.

X | 2|1 3|4 |5 ]6|7|8]|9
2 12468101214 16]18
4| 4 | B | 12]16]20|24)28|32]| 36

2—I What can we find from the above table showing the
multiplication facts of 2 and 4.

When each result of the multiplication facts of 2 is

You can find a very
interesting fact!

doubled, each of them becomes the result of the
multiplication facts of 4.

|_3—I Calculate the following multiplications.

O 2x3=[¢] © ix2=]8]
© ixi=]4] O 2xi=|s]
O© 2x5=[10] 0O :x3=|i2]
@ «x4=[1s] O 2xI
O 2x2=[4] © 4x6=]2]
@ «xs5=[] ® 2x6=]12]

107

108

0

Multiplication- |
1 0 = 15 Multiplication Facts of 3 and 4
1—' The following table shows the multiplication facts of 3
and 4. Write the numbers in the |:| .
X I 2 3|4 |56 | 78|49
3| 3|6 |9 | 1215|1821 |24 |27
4 | 4 | 8 | 12| 16|20 |24 |28 32|36

~[3EniE  Calculate the following multiplications.

03><5= 94><2=

—
L2

You can do @, ©, O

Calculate the following multiplications. Lets repeat them so that you
can master them completely.

03><5=
© 3x8=|u]
O 3x3=9]
@ 3x2=[¢]
O 3x6=[1s]
@ s3xi=[3]
®3><7=
®3><q:
®3><4=

O ix2=
04><q= (@\
O ixi=|is]
0O «x7=|2]
® ¢x5=[20]
@ ¢x6=2u]
D txs=3n]
O exi=[4]
® ¢x3=]12]

10 _ 1 6 Multiplication- | Ceview ]

1—' The following is a multiplication table. Write the
numbers in the blanks.

X | 23| 4516|7879
2 | 2468101214 16]18
3| 3| 6| 9 12151821 |24]27
4 | 4 | 8 | 12]16]20|24)28|32]|36
5| 5| 10| 15|20 |25|30| 35|40 45

2! Read the following questions. Write the math
sentences and find the answers.

o There are 2 peanuts in each bag. There are 8 &ED
bags. How many peanuts are there altogether?

Math —
S:mence 2 X 8 - |6

e There are 3 bananas on each plate. There are 7 plates.
How many bananas are there altogether? ey

4
Math —
S:ntence 3 X 7 - 2|

bananas
o A car has 4 tires. There are 6 cars. How many tires are
there altogether?

Sentence | 4 X 6 = 24

o There are 4 children. My father will give 5 pencils ;2 ¢
to each child. How many pencils does he need?

glear?t]ence 5 >< 4 = 20

Answer |6 peanuts

Answer | 2 |

Answer | 24 | tires

Answer 20 pencils

109
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Multiplication-2
Multiplication Facts of 6 (1)

J

<» (30 There are 6 lemons on one plate. There are 3
plates. How many lemons are there altogether?
Write a math sentence and find the answer.

. Q& SEeey Math sentence E . @

There are 6 chocolates in one box. Write multiplication math
sentences and find the answers.

o ;\*?)J | box
A A ATd

X

X
Il
N

X

X

There are 6 chocolates in one box.
There are 5 boxes.
There are 6 chocolates in one box.
There are 6 boxes.
There are 6 chocolates in one box.
There are 7 boxes.
There are 6 chocolates in one box.
There are 8 boxes.
There are 6 chocolates in one box.
There are 6 boxes.
| ‘ 2 ‘ 8 ‘ 4 ‘ 5 ‘ 6 ‘ 7 ‘ 8 ‘ 9 ‘ Can you say the multiplication
6 [12]18]24]30[36]42|48]54| facts of 6 from 6 X 9,6 X 8....2

X

X
Il
~
(S}

]
=7~ B~ w N =
ico(2][s][s][g][g] [2] [5] [5] [

X
Il
=3

OO0 6006 6 O O

X

Ll ] o] [ -
el () o] ]

1]
o

o[ X

110

<»[EFEns There are 6 donuts in one box. There are 3

Multiplication-2
Multiplication Facts of 6 (2)

J

boxes. How many donuts are there altogether?

%%%

Yath ol 6 X 3 = IS, Answer | |8 | donuts

Read the following questions. Write the math sentences and
find the answers.

o There are 6 eggs in one package. There are 5
packages. How many eggs are there altogether?

g:,t,?ence 6 X b =30 Answer | 30 | eggs

0 There are 6 apples in each box. There are 7
boxes. How many apples are there altogether?

gl:,t,?ence 6 X 7T =42 Answer | 42 | apples

o Six students make one group. There are 8 groups.
How many students are there altogether?

'\SA:rtr?ence 6 X 8 = 48 Answer | 48 | students

o There are 3 children. Each child has 6 pieces of candy.
How many pieces of candy are there altogether?

Uhrco | 6 X 3= 18 | mower | I8 |Botgeet

11

J

Multiplication-2
Multiplication Facts of 7 (1)

.

<> [3Zn]5 There are 7 lemons on one plate. There are 2
plates. How many lemons are there altogether?
Write a math sentence and find the answer.

Seven pens are sold in one set. How many pens are there?
Write multiplication math sentences and find the answers.

©
| set 7
9 RITTTRTRITTT:
2 sets .
O L. . O
13 ¥ 2 |4 sets .
© There are 5 sets.
How many pens are there altogether?
@ There are 6 sets.
How many pens are there altogether?
@ There are 7 sets.
How many pens are there altogether?
© There are 8 sets.
How many pens are there altogether?
©) There are 9 sets.
How many pens are there altogether?
X‘I‘2‘3‘4‘5‘6‘7‘8‘9‘ Let’s have a problem

717 14]21]28]35]42]49|56]63]  with friends, like “what is
the answer to 7 X 87"

X

X

N
~

X

Bﬂ!@ﬁlllm
o)) (=] )] (5] 5] 5] 2

N
[es)

X

X
Il
~
)

X X
Il Il

~
o || ©

X
[o

112

<»[3Zn[J5 There are 7 marbles in each bag. There are 3

Multiplication-2
Multiplication Facts of 7 (2)

-4

bags. How many marbles are there altogether?

@ @
UO LR [ I°IC
005 bee 000

Math ol 7 X 3= 2,| Answer | 2| | marbles

Read the following questions. Write the math sentences and
find the answers.

o There are 7 fish in each tank. There are 8 tanks.
How many fish are there altogether?

g:rt\rt]ence 7 X 8 =56 Answer | B6 | fish

0 There are 7 pieces of cakes in each box. There are 4
boxes. How many pieces of cake are there altogether?

oo | T X 4 = 28 | ansver| 28 | pgec”

e There are 7 mangoes in each basket. There are 5
baskets. How many mangoes are there altogether?

'éﬂ::‘?ence 7 X b5 =35 Answer | 35 | mangoes

o There are 3 fishing boats. Seven fishermen are in each
fishing boat. How many fishermen are there altogether?

g:r:rt]ence 7 X 3 =2] Answer | 2| | fishermen
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<=»[3Zn1E Calculate the following multiplications.

1—I The following tables show the multiplication facts of 6
and 7. Write the numbers in the |:|

X | 2 8 4 5 6 7 8 9q

6 6 | 12| 18| 24| 30| 36 | 42 | 48 | 54

7 T | 14 |21 | 28| 35| 42| 49 | 56 | 63

Multiplication-2
Multiplication Facts of 6 and 7

(1) 6><3= (2) 7><4=
You can do @, &,

I_z—l Calculate the following multiplications. © - If you practice

O 6x3=[is]
(3] 6><7=
66><5: ()
06><2= (5
QO sxi=[¢] (10)
moxéz ®
14
(16}
®

them repeatedly,

you will surely be

e 7 X 4 = able to say them

smoothly.
0O 7x

7><5: =

® 6><8=
® 6x4=[2]
(17) 6><q=

<»[3EndB5 There are 8 carrots in one basket. There are 2

Multiplication-2
Multiplication Facts of 8 (I)

J

baskets. How many carrots are there altogether?
Write a math sentence and find the answer.

@EiEE 8 Math sentence . . M

There are 8 pieces of bread in one package. How many pieces
of bread are there? Write multiplication math sentences and

find the answers.
| package X |I| = .
2 @@ 2 packages X
e @@@ 3 packages
o 4 packages
ot ot et o x

There are 5 packages. «
How many pieces of bread are there altogether?
There are 6 packages. % |Z|
How many pieces of bread are there altogether?
There are 7 packages. %
How many pieces of bread are there altogether?
There are 8 packages.
How many pieces of bread are there altogether?
There are 9 packages. % E
How many pieces of bread are there altogether?
‘ | ‘2‘3‘4‘5‘6‘7‘8“7‘ Let’s have a problem with friends,
8[8

‘ |6‘24‘32‘40‘48‘56‘64‘72‘ like “what is the answer to 8 X 52"

= o ~ w
\ o o )

X

X

000

115

116

<> 35 There are 8 cans of juice in one box. There are 3

Multiplication-2
Multiplication Facts of 8 (2)

sets. How many cans of juice are therealtogether?

i :
Math —
e [ 8 X 3 = 24 |nower [ 245715

Read the following questions. Write the math sentences and
find the answers.

o There are 8 buttons in one package. There are 6
packages. How many buttons are there altogether?

538
Math o 8 X 6 = 48 Answer | 48 | buttons
) .
e There are 8 pencils in each case. There are 5
cases. How many pencils are there altogether?
’éﬂ:rt\?ence 8 X b =40 Answer | 40 | pencils

e There are 8 photos on each page of the album. This
album has 7 pages. How many photos are there in this
album altogether?

8 X 7 =056

Math

Sentence Answer 56

photos

o There are 4 boats. Eight people are in each boat.
How many people are on the boats altogether?

8 X 4 =32

Math

Sentence Answer 32

people

Multiplication-2
Multiplication Facts of 9 (1)

<w[3EndE There are 9 carrots in one basket. There are 2

baskets. How many carrots are there altogether?
Write a math sentence and find the answer.

R @EEER Math sentence E . @

There are 9 chocolates in one box. How many chocolates
are there? Write multiplication math sentences and find the

answers.
«[1]=[7]

N

oXes

Il
N
3

Il
w
[oN

There are 5 boxes.

EEE-
4 boxes
L] x[5]=
How many chocolates are there altogether?
There are 6 boxes.

X
How many chocolates are there altogether?E

There are 7 boxes. E %
How many chocolates are there altogether?
x[8] =

There are 8 boxes.
x[9]=

How many chocolates are there altogether?E
In the group, let’s have a problem.

There are 9 boxes.
How many chocolates are there altogether?

‘ ‘ 2 ‘ 3 ‘ 4 ‘ 5 ‘ 6 ‘ 7 ‘ 8 ‘ 9 ‘ Who can give the correct answer

919 ]18]27[36]45]54]63]72[81]| fast?

|
~
(6]

Il
o

©0©00 0 0 O
ﬂ

,
Eiﬁ
-
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Multiplication-2
Multiplication Facts of 9 (2)

J

<»[3€nia There are 9 sweets in one box. There are 3
boxes. How many sweets are there altogether?

nswer sweets

Read the following questions. Write the math sentences and
find the answers.

o Nine people are lined up in each row.
There are 2 rows. How many people are
there altogether?

Math
Sentence

9x2=18

6 There are 9 marbles in each package. There are 5
packages. How many marbles are there altogether?

Answer | 8

people

LT

@0 -

)
'\S/I:,t]?ence 9 X b =45 Answer | 45 | marbles

e There are 9 students in each group. There are 6

groups. How many students are there altogether?
gl:,t,?ence 9 X 6 =54 Answer | B4 | students

Q There are 4 boats in the sea. Nine people are on each
boat. How many people are there on the boats altogether?

Multiplication-2
Multiplication Facts of |

<»[3En[JE There is | carrot on one plate. There are 3
plates. How many carrots are there altogether?

Write a math sentence and find the answer.
“ Math sentence |I| x =

There is | melon in one box. Write multiplication math

sentences and find the answers.

X

o

X X

X

BEHB#FH ois

There is | melon in one box.
There are 5 boxes.
There is | melon in one set.
There are 6 boxes.
There is | melon in one set.
There are 7 boxes.
There is | melon in one set.
There are 8 boxes.
There is | melon in one set.
There are 9 boxes.

X
Il

X

Q00006 6 0 ©°

X

OEEBPEEEE -
pEEon

) =1

‘X‘|‘2‘3‘4‘5‘6‘7‘8‘q The multiplication facts ﬁ
glearg?ence 9 X 4 =236 Answer | 36 | people [T [2]3]4[5]6]7]8]9] of | is very easy,isn’t it? & W
118 "9
Multiplication-2 Multiplication-2
Multiplication Facts of 8 and ¢ 11 = 12 Multiplication Facts of 7 and 8

120

1—' The following table shows the multiplication facts of 8
and 9. Write the numbers in the |:| .

X | 2|3 |4 |56 | 7|89

8 | 8 | 16|24 |32 |40 | 48 | 56 | 64 | 72

9 | 9 | 18|27 |36 |45 |54 |63 |72 8l

0

~[3EnTiE  Calculate the following multiplications.
0sxs-[x] ©9xo-[f

You can do @, ©,
|_2—I Calculate the following multiplications.

©-- Let’s practice
0o

them many times.
9q><4= e

0 8><7=

(5 8><5:

0 ixi=9]
0O 7x5=|4]

@ sx2=]6]

Qsxi=[s]

(8] q><7=
(1) 8><6:

® 9x2=|18]
@ 9x6=[5]

® 8xs=]0c]

® sx4=3]

(14) q><3=
(17) 8><q=

[16) q><q:
® <7><8=

1—' The following table shows the multiplication facts of 7
and 8. Write the numbers in the |:|

X | 2|1 3| 4|5 |6 7]|8]|49

7 | 14|21 | 28| 35| 42| 49| 56| 63

8 | 16| 24| 32| 40| 48| b6 | 64 | 72

7
8

1)

~EEndE  Calculate the following multiplications.

07><5= 08><2=

You can do @), €, ©)---Let’s

—
|_2

(1) 7><3=
(3) 7><7=
(5) 7><5:
(7] 7><2=
QO 7xi1=[17]
® 7x6=[4x]
® 7><8=
(15) 7><4:
(17) 7><<7=

looking at the answer:
68><4=
08><|= -
0O sxs5=[«w)]
(8) 8><7=
® sx2=[1s]
@ sx6=[4]
D 8x3=[2]
(16) 8><q=
® 8><8=

Calculate the following multiplications. say them smoothly without

121

JICA 24 _fR&MRER_P002-046. indd 31

31

2022/02/25

14:57:4:




122

<=»[3Em;IE Calculate the following multiplications.

11-13

I_I—I The following table shows the multiplication facts of 4
and 7. Write the numbers in the |:| .

X | 2 | 3|4 |5 |6 |17 8 | 9

4 4| 8 |12 16|20 |24 |28 |32 36

7 7 | 14|21 | 28| 35| 42| 49| 56| 63

Multiplication-2
Multiplication Facts of 4 and 7

04><3= e7><4=
You can do @, ©, O

I_z—l Calculate the following multiplications. - Hide the answers and

practice them repeatedly.
® ix5= O 7x4=
O txs8=

07><|:
O «x3=[12] O 7x5=[3%]
04><2=

(8] 7><7=
Q ¢x6=[2] © 7x2=[14]
© ¢x1=[4] @ 7x6=[4x]
® ¢x7=[2] @ 7x3=[21]
® ¢x9=[3] D 7x9=[63]
®4><4= ®7><8=

Multiplication-2
11 - 14 Multiplication Problems

<»[3E0JE There are 6 donuts in one box. There are 5
boxes. How many donuts are there altogether?

B0 vatn

' Sentence

&

6 x5 =230 donuts

Answer | 30

Read the following questions. Write the math sentences and
find the answers.

@ There are 8 donuts in one box. There are 6 boxes.
How many donuts are there altogether?

gl:r?t]ence 8 >< 6 = 48

Answer 48 donuts

e Six children are sitting on each bench. There are 7
benches. How many children are there altogether?

glear?t]ence 6 >< 7 = 42

Answer 42 children

9 Each minibus can hold 9 people. There are 4
minibuses. How many people can be held altogether?

Sentonce | 9 X 4 = 36

Answer 36 people

o There are 7 children. | am going to give 3 pieces of
candy to each child. How many pieces of candy do |
need?

Math —
S:ntence 3 X 7 - 2|

pieces of
candy

Answer 2 |

123

124

<»[FEnE  Answer the following problems.

Multiplication-2
Times as Much and Multiplication

11-15

&

W [ V4
[ : ] :

o Colour in the tape so that it is 3 times as long as (A).
9 The length of tape (A) is 2 cm. How many cm is the

tape that you coloured? Y 4
Math L4
Sentence 2 X 3 = 6 Answer 6 cm

I_l—l Answer the following problems.
(B)
[ ‘ ‘ ;
o Colour in the tape so that it is 5 times as long as (B).
9 The length of tape (B) is 4 cm. How many cm is the
tape that you coloured?
Sentence | 4 X 5 =20

I_2—' Atoy train is 4 cm long. |

Answer | 20 | ecm

4cm
o How many cm are 2 trains together?

Math —
S:ntence 4 X 2 - 8
9 How many cm are 3 trains together?

Math —
Seartnence 4 X 3 - |2

el

Answer 8 cm

drbdrharh

Answer |2 cm

Multiplication-2
The Multiplication Table ()

11-16

&

<eInstruction

Multiplication Math Sentence:

Number of Total
. . Number of | _
objects in | X roUDS = | number of
each group group objects

Write the numbers in the following multiplication table.

You can do the Facts of |, Facts of 2, Facts of 3....

Forexample | X | = |, x2=21 x3=3,...
Multipliers

1 T2]3]4]s5]6[7]8]0a
Facts of | |1 12]|3|4[5|6[|7]|8|9
Factsof2 |2 |2 |4 |6 |8 ]iofi2]14]16]18
Factsof3 | 33|69 ]|12[15]18]21]24]27
Factsof4 B 4 | 4 | 8 |12]16]20|24|28[32]36
Factsof 5 S| 5 | 5 | 10] 15]20| 25|30 36| 40] 45
Factsof6 3| 6 | 6 | 12] 18] 243036 42] 48]
Factsof 7 | 7 | 7 | 14|21 |28] 3542|4956 ] 63
Factsof8 | 8 | 8 | 16|24|32] 4048566472
Factsof9 | 9| 9 | 18]27]36]45 |54 63| 72|81

125
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Multiplication-2
11 - 17 The Multiplication Table (2)

&

Arrange |8 dots in various ways.

EeEE o o
000000
B - -

I_l—I Find the multiplication sentences that match |2.

000000 Jo x[e]-

000000 v

E‘OEOO O There can be these
EOEO O O arrangements. What

EOEO O O else are there? 4

][]

I_z—I Find the multiplication sentences that match 24.

There is this arrangement.

G/(‘;/l\b What else are there? x =
C0000000
00000000 x -

Q0000000

=]l
BRBER

X

126

<»[3Zn/5 Find the multiplication sentences that match |8.

24
24
24
24

&

11-18

Multiplication-2

Making Multiplication Problems

Multiplication
problem

~[3€mE Look at the picture and make a multiplication
problem. Then write a math sentence and find
the answer.

I%4
There are 5 donuts on one plate. There
are 3 plates. How many donuts are there
altogether?

Math

Sentence

5 X 3 = |5 |Answer

|'5 | donuts

Look at the following pictures and make multiplication
problems. Then write math sentences and find the answers.

© phoanea pas B
7 pens
TTHTH e
7 pens 7 pens

Math
Sentence

Multiplication problem

There are 7 pens in one set.
There are 6 sets. How many
pens are there altogether?

7 X 6 = 42 |Answer | 42

eoe 0o

Math
Sentence

Multiplication problem

pens

There are 9 chocolates in one box.
There are 4 boxes.
chocolates are there altogether?

How many

9 X 4 = 36 |Answer | 36

chocolates

127

Multiplication-2
11 - 19 Problems

&

J

Think about different ways to find the answer.

Method 1
2 groups of 2 make 2 X 2.
3 groups of 6 make 6 X 3.
2x2=4and6 x 3 =18, |
4 + 18 = 22. 22 chocolates |

<»[3FEn3 How many chocolates are in the box altogether?

Method 2
5 groups of 2 make 2 X 5. i
3 groups of 4 make 4 X 3.
2x5=1[0and4 x 3 =12
10 + 12 = 22. 22 chocolates!

Method 3 -

5 groups of 6 make 6 X 5. @e
2 groups of 4 make 4 X 2. ::
6x5=30and4 Xx2=8 g
30 — 8 = 22. 22 chocolates @@ @

1! How many sweets are in the box altogether?

Think about different ways to find the answer.
Method 1: ‘

3 groups of 4 make 4 X 3.

3 groups of 6 make 6 X 3.
4x3=12and6 x 3= 18.
12+ 18 =30. 30 sweets
Method 2:

6 groups of 4 make 4 X 6.

3 groups of 2 make 2 X 3.

4 X 6=2band2 x 3 =6.

24 + 6 =30. 30sweets

Method 3:

6 groups of 6 make 6 X 6.
3 groups of 2 make 2 X 3.
6x6=36and2 X 3 =6.
36 — 6 =30. 30sweets U

128

I_2_' How many stars (i\( ) are there altogether?
Think about different ways to find the answer.

Yok &
Fok K

*
*

Yok &
LB 3

Sood Wk ok o W | | ok o ko W ok o
ok ok ok ok ok ok & | | o A oF & o o A

Yok w
ok H

ood Wk b ok o W | | W ok o A o W ok

Foot ok o Aok K| | oA A A A A

Yok w
* ok W

Method 1:

5 groups of 2 make 2 X 5.

3 groups of 4 make 4 x 3.
2X5=10and4 x 3= 12.
10+ 12 =22, 22stars

Method 2:

8 groups of 2 make 2 X 8.
3 groups of 2 make 2 X 3.
2x8=l6and2 X 3 =6.
16 +6 =22 22stars

Method 3:

8 groups of 4 make 4 X 8.

5 groups of 2 make 2 X 5.
4x8=32and2 X 5= 10.
32 — 10 =22. 22stars

D o b 0 o b

How many star marks (i\( ) are there altogether?
Think about different ways to find the answer.

*+

e

*

*

*
e

*

*

Method 1:
8 groups of 2 make 2 x 8.
2X8=16.

16 stars

Method 2:
4 groups of 4 make 4 X 4.
4X 4= 16.

16 stars

Method 3:
4 groups of 4 make 4 X 4.
4 X 4= 16.

16 stars

There are also other ways too.

129
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Multiplication-2
1 1 - 2 0 Review ]

1! The following is the multiplication table. Write the
numbers in the blanks.

X I 2 (3|4 |5 |6 |7]|8]|79
I I 2 (3|4 |56 |7]8]|49
2 (2 4 6|8 |I10]12]14]16)| 18
33 |6 | 9 1215|1821 24|27
4 | 4 | 8 |12 16|20 |24 ]28|32)|36
55 | 10|15]20|25|30 35|40 |45
6 | 6 | 12| 18| 24|30 |36 42| 48| 54
7| 7 | 14|21 |28 |35|42| 49 |56 | 63
8 | 8 | 16| 24| 32|40 | 48 | 56 | 64 | 72
9 | 9 | 18|27 |36 |45 |54 63|72 8l

I_3—' Calculate the following multiplications.

(1) 6><3= (2) 7><2= (3) <7><2=
8><I= (5 q><4: (6 ) q><7:
8><3= (s 6><5= (9 q><8=
7><4= (1) 8><5= ® 7><7=
6x4=|2%] @ 7x9=[63] ® 8x6=|43]

® 6 00

z—' Read the following questions. Write the math
sentences and find the answers.

0 There are 7 peanuts in each bag. There are 6 bags.
How many peanuts are there altogether?

g:rg?ence 7 X 6 = 42 |Answer| 42

O There are 6 pens in one set. There are 4 sets. How
many pens are there altogether?

glearg?ence 6 X 4 = 24 |Answer| 24 | pens

peanuts

|_3—I Answer the following questions.

GV
[

o Colour in the tape so that it is 3 times as long as (A).

6 The length of tape (A) is 3 cm. How many cm is the
tape that you coloured?

Math —
Ssmence 3 X 3 - q

Answer | G |cm

4! How many sweets are in the box altogether?
Think about different ways to find the answer.

Method 1:

3 groups of 3 make 3 x 3.
2 groups of 6 make 6 X 2.
3X3=9and6 x 2= 2.
9+ 12=21. 21sweets
Method 2:

5 groups of 3 make 3 X 5.
2 groups of 3 make 3 X 2.
3X5=15and3 x 2 =6.
15+ 6=21. 21sweets
Method 3:

5 groups of 6 make 6 x 5.
3 groups of 3 make 3 x 3.
6X5=30and3 x 3 =9,
30 —9=2I. 21sweets

131

132

<wlInstruction A girl's arm span is exactly 4 ruler lengths

<»[EZn5 How long is the piece of tape in meters and

Length of Long Objects
Units of Length

12-1

&

long using a 30 cm ruler. How long is her arm
span?

[ T T T T T T T T T T T 1

‘ 30 cm “ 30 cm “ 30 cm “ 30 cm ‘

Arm span

. . A metre is another unit
=

T / of length. | m = 100 cm
120 'cm 120 emis | m 20 em.

centimeters?

I'm
| IOAcm

How long is the piece of tape in meters and centimeters?
e

[ Im| 5 |[cm

0

£

I'm

<»[3Z0IB 1 Fill in the blanks.

<»[EEnT;I5 20 Calculate the following lengths in meters and

Length of Long Objects
Addition of Lengths

o Im:cm e |500m=|I|mcm

centimeters.

 EE—]
o 2m50cm + | m10cm
L

Calculate the meters and the

Im=100em A
W ©  centimeters separately.

e

e 60 cm + 70 cm

I_1_‘ Fill in the blanks.

04000m=m 97m=cm
0350cm= cm
Q |O5cm=|I|mcm

I_2—' Calculate the following lengths in meters and centimeters.
0 3m+2m = E m

@ 2m30cm+ Im = m| 30 | cm

@ 4midocm+50cm =
0 I'm20cm + 2m50 cm
© m30cm+90cem =

Il
oLl e]o]
3 3 3
3]z]e]]
o || O
[}
3

Q
3

133
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Length of Long Objects
Subtraction of Lengths

12- 3

&

<»[F&nria Calculate the following lengths in meters and

centimeters.

o 3m—1Im

@ 4m2cm— Iml0cm
S — |

(2 ]m
[ 3 ]m|10]cm
(][5

e 2m — 50 cm

Calculate the following lengths in meters and centimeters.

o5m—2m =Hm
Q 3m30cm — Im =nmmcm

4

e 4m70cm — 20 cm

3

cm

0 Im20cm — I5cm

3
o)
3

© 5m50cm — 2m 0cm

]
3
o)
3

]
3
o)
3

@ 2m45cm — I mi5cm
@ 2m40cm — | m25cm

]

3
oflgllall=lloa|lalla
allol|lol|lallollo S

o)

3

3
o
3

© 10m50cm —2ml0cm

© 5m20cm — 2m 50 cm

3
o
3

@ 7m30cm— I m35cm

Il
3
o
3

Length of Long Objects
Calculation of Lengths (1)

12- 4

&

<= 3= Calculate the dimensions of a blackboard.

Length
o The length of the blackboard is 20 cm longer than 3 m.

3 |m| 20 |cm

Q The width of the blackboard is 6 cm longer than 2 m.

2 Im| 6F|cm

Calculate the dimensions of a container.

o The length of the container is |0 cm longer than 2 m.

2 Im| 10 |cm

e The width of the container is |5 cm longer than | m.

[ Im| I5 |cm

e The height of the container is 3 cm longer than | m.

I Im| 3 |cm

135

136

Length of Long Objects
Calculation of Lengths (2)

12- 5

&

<»[FEnla Calculate the dimensions of a bus.

Length and Width,
the longer one is
called length.

-~

Length Width
o The length of the bus is 20 cm shorter than 7 m.

6 |m| 80 |[cm

e The width of the bus is 25 cm shorter than 2 m.

| Im| 75 |cm

o The height of the bus is 6 cm shorter than 3 m.

2 |'m 94Acm

Calculate the dimensions of a desk.

o The length of the desk is |0 cm shorter than 3 m.

2 |m| 90 |cm

O The width of the desk is |5 cm shorter than 2 m.

[ |m| 8 |[cm

e The height of the desk is 3 cm shorter than | m.

97 |cm

Length of Long Objects
Review

12- 6

I_‘I—I How long is the piece of tape in meters and centimeters?

K3
I'm

lI| m cm
|2 Fillin the blanks.

© 200cm=[2 |m @ 6m=[600|cm
9 450cm=mcm
0 |O7cm=|I|mcm

|_3—I Calculate the following lengths in meters and centimeters.

o Im+3m =nm
e 6ml0cm + 7m =Em.cm
© ¢msoem+ Im50em =| 6 |m[30|cm

I_l.—l Calculate the following lengths in meters and centimeters.

0 7m—3m

@ 2m30cm — 20cm

3

I
3
o
3

e 4m60cm — | m20cm
0 2m20cm — 40 cm

]
3
o
3

Il
3
w ~
Q
3

3

G 3m20cm — 85 cm

o
3
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Shapes of Boxes
ﬂ@ = ﬂ Let’s Make Boxes (!)

< Instruction Characteristics of boxes.

Type A Type B Type C

1 &~

Formed only by Formed by Formed only by
squares squares and rectangles
rectangles

side
T faceE
vertex

®  Flat surfaces of a box are called face.

® The line between two faces is called side.
® The point where three sides meet is called vertex.

<»[FEn;E 1 Classify the following boxes into the three
types. Which types are these?

(a) @ (b) (c) @

4

Type Ais| (b) Type Bis| (c) Type Cis| (a)

I_l—l Classify the following boxes into the three types.

(@) @ (b) @ (c) @

138

(d) (e) U] I’
Type Aare| (a)and (e) Type Bare| (c)and (d)

Type Care| (b)and (f)

<»[EEniE 2 Investigate the following box.

o Count the number of sides, faces and vertexes.
Vertexes Sides Faces 4
8 12 6

e Write down the shapes of faces and the lengths of

sides.
Faces Sides
ﬁ Squares with the | All the lengths are 4
same size the same

I_z—' Investigate the following box.

o Count the number of sides, faces and vertexes.
Vertexes| Sides | Faces | You canfindaboxand

count the vertexes,
@ 8 12 6 sides, and faces.

d o

Faces Sides
Opposite faces are | 3 kinds of lengths
(T the same shape and| are described in 3
size. kinds of color

e Write down the shapes of faces and the lengths of sides.

139

Shapes of Boxes
ﬂ@ = 2 Let’s Make Boxes (2)

<»Instruction Summary of characteristics of boxes.

o The number of sides, faces and vertexes.
Vertexes Sides Faces

8 12 6

0 Write down the shapes of faces and the lengths of

sides.
Faces Sides
@ Squares with the | All the lengths are
same size the same

Opposite faces are | 3 kinds of lengths
[ erreme]enees the same shape and| are described in 3
size. kinds of color

<»[FEn3 Find the length of the side marked in red.

1 (2]

2cm 5cm

o 2]

3cm
2cm
3 |cm. L 2 |cm.

140

0 0 4cm

2cm 3cm
2 |cm. 3 |cm.

<» (3022 When you tape together to make a box, which

one will you make, (a), (b), or (c)?

] (a) (b) (©)
noon 9 =20

D (a)’i

2! When you tape together to make a box, which one will
you make, (a), (b), or (c)?

1 N (a>@ (b)@ (c)@

]DQD (b)
] (a) ® — ©
o ° 7~
[ ]

(2]

141
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Shapes of Boxes

Review

l_1—I Investigate the following box.

o Count the number of sides, faces and vertexes.
Sides

Vertexes Faces

8 12 6

Sides
3 kinds of lengths
are described in 3
kinds of color

Faces
Opposite faces are
the same shape and
size.

1_2—I Find the length of the side marked in red.

O Write down the shapes of faces and the lengths of sides.

o

6 cm

7

o

you make, (a), (b), or (c)?

2cm
7cm
e

2! When you tape together to make a box, which one will

I cm 3cm
I |em. ! cm\—[j 3 |em. 0 D
© o =
2cm 5cm
2cm 2cm
ﬂ [] ©
2 |cm. 5 |cm.
o o o @~ ® ©
5 | cm
cm HIEEI
(a)
4 |cm I |cm.
142 143
1 Numbers Greater Than 1000 What amounts are shown in the followings? Write the
ll -
I How to Express Numbers numbers and read them.
‘ @ :
< Instruction There IS the One Thousands Place neXt to One Thousands Place| Hundreds Place Tens Place Ones Place
the !—Iqureds Place” that was aIr:aady learnt.
In this "One Thousands Place, there are Four thousand three hundred twenty-five
groups of 1000 blocks. e = HH
Two groups of a thousand is called two One Thousands Place| _Hundreds Place Tens Place Ones Place
thousand.
Five thousand three hundred thirty-five
If you put two thousand and three 0 Hﬁ
hundred forty-five together, we have the 0
number “tWO thousand three hundred One Thousands Place| Hundreds Place Tens Place Ones Place
fody-flve. Six thousand four hundred twenty-seven
o T ow J[ o |
. [Trooo {[ oo {[ o0 | [io] @
i In many countries, the [om [ oo J[e |
= comma (‘) or space are One Thousands Place| Hundreds Place Tens Place Ones Place
E HH added every three digits
One Thousands Place | Hundreds Place | Tens Place | Ones Place to make it easier to read, Eight thousand one hundred thirty-three
like 2,345 or 2 345. 0
[ f
. . . One Thousands Place| Hundreds Place Tens Place Ones Place Th .
<»[3EnB What amount is shown in the following |I| ehre"
: nothing in
problems? Write the numbers and read them. One thousand ane hundred ninely-two some places.
There are 4 groups of a thousand. It is called four thousand. o In this case,
There are 3 groups of a hundred (three hundred), 2 groups of a 0] ou can
group: group: Y
ten (twenty) and | (one). Altogether it is called four thousand three Oneiholsalis riace ML IS A Ll Sl write “0”
hundred twenty-one. and do not
Two thousand three hundred one read these
L] 0] o places.
One Thousands Place| Hundreds Place Tens Place Ones Place
lIl One Thous5ands Place HundreZs Place Tens Place Ones Place
Four thousand three hundred twenty-one - -
Five thousand four hundred
144 145
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Numbers Greater Than |000
Structure of Numbers (1)

-
<*EEITE. Write the number in the .

o 5763 is the number made of thousands,
hundreds, E tens, an ones.

Ho| HH

[One Thosangs Plece[Hundreds Place | Tens Place.

S22

Ones Place

P :l
e 3254 | is the number made of 3 thousands, 2
hundreds, 5 tens, and 4 ones. _
= B HD

s Pcs
I s )

Write the numbers in the[ |.

o 5784 is the number made of thousands,
hundreds, tens and ones

Hundreds Place

@ 6532 is the number made of E thousands,
hundreds, tens, and ones.

9 8307 is the number made of thousands,
hundreds, and ones.

@ 7605 is the number made of thousands, E
hundreds, and ones.

0 6082 is the number made ofE thousands, tens,

and ones.

@ 4003 is the number made of thousands and

ones.

o 3471 |is the number made of 3 thousands, 4 hundreds,

7 tens, and | ones.

&
[ B
[One Place| Tens Place | Ones Place

0 4289 | is the number made of 4 thousands, 2 hundreds,

8 tens, and 9 ones.

o 5316 |is the number made of 5 thousands, 3 hundreds,

| tens, and 6 ones.

@ 7603 | is the number made of 7 thousands, 6 hundreds,

and 3 ones.

m 6035 |is the number made of 6 thousands, 3 tens, and

5 ones.

@ 8050 |is the number made of 8 thousands and 5 tens.
@ 2006 |is the number made of 2 thousands and 6 ones.

147

148

Numbers Greater Than |000

Structure of Numbers (2)
<eEEITE. Write the numbers in the [ .

© sn - 0]+ 0]+ () [+

7269 is the number made of 7000, 200, 60 and 9.

0 «wor =[]+ o]+ [

4901 is the number made of 4000, 900, and |.

14-3

Write the numbers in the |:| .

(1) 46|2=M+-++

@ 5749 =[5000 | +[ 700 + [ 40 ]+ 9 |
© 7836 = 7000] +[800 | +[30]+] ¢ |
02674:+++
© 6420 = 6000 | + | 400 | +| 20 |

O 5703 =8000]+[700] +
@ 5904 =[5000]+[900]  +
© 1500 = 1000] + [ 500
02073= + +
© 4005 = | 4000] +

14- &

Numbers Greater Than 1000
Comparing Numbers

J

© 5000 qqo

~[Fenil5 Compare the following two numbers and write
the appropriate sign ( < or > )inthe[ |.

(2] 8397402 -

First compare the numbers in the one thousands place.

If the numbers are the same, compare the numbers in the hundreds place.

Compare the following two numbers and write the
appropriate sign ( < or > )in the|:|.

(1]
(3]

® ©6 © © O

6035| > |5982
7100[ > |6900
4584] < |6291
1486] < |1613
3629| > [3129
5769| < |5799
2057| < |2088

(2]

@ @ 6 ©6 606 0

3583] < | 4123
5899 | < |6211
2353 1985
7569| > | 7280

149
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<»[FEniE There are four number cards below. Make the

Numbers Greater Than 1000
Making Numbers

14-5

J

following numbers by using these four cards.

@ The largest number
is 9. So, it will

e The second largest number | 9472 | be 9 s 3 * .

The largest
number card

There are four number cards below. Make the following
numbers by using these three cards.

D
The largest number | 753
The second largest number | 735

The smallest number | 1357
The second smallest number | 1537

There
are two

‘ﬁ"

© 060000

Numbers that are larger than 7500. OIS
altogether.
| 7531,7513 | o f&
Numbers that are smaller than |1500. are two
numbers
| 1387, 1375 | ogerner

14-¢6

Numbers Greater Than 000

Number Line

<»EEnE Write the numbers

0 1000 2000 3000 4000

inthe| ]. ibe

smallest

5000 6000 7000 8000 tick
‘\‘\‘\‘\Amarks

show

i
[1500] [3200] [4700] \6300\ [7900 | unics of

63400 3500 3700 3800 3‘?00 AOOO 4|oo é 5&

Write the numbers in the | |.
0 1000 2000 3000 4000

5000 6000 7000 8000

I I
[ 2000 ] [ 3500 |

i i
[5400] [7300]

3800 3900 4100 4200 4400

=]

2300 2400| 2500 |2600 27
| | I | |

00247‘003|‘00

©

5310 5320] 5330 |5340 53
| | I | |

50 53‘70 53‘80

©

7850| 7860 |7870 7880 78
| I | | |

90[ 7900 J7910] 7920 ] 7930
I | I |

What is the smallest tick mark shown above? ﬁ

151

152

<» (33 1 Calculate the following addition problem.

Numbers Greater Than 1000
Addition with Hundreds

14-7

400 + 900 = | 13004

Think about how many hundreds there are.

400 has 4 hundreds and 900 has 9 hundreds.

So add 4 and 9. The answer is |3. It means |3 hundreds.
I3 hundreds is | thousand and 3 hundreds.

Therefore the answer is 1300.

I\
[(o0 100 ] [(100 T 100 o0 [ 100 [100'|
oo |00 ] |70 [ T00 [ 100 [ 100 |
VN

(100 ] oo [ 1o [ 100 [ 100 ) [Tro0 00|

‘{um\mo\mo\woo\wooum }

==

2000 + 500 = | 25007

So add 20 and 5. The answer

100 [ 100 [ 100 [ 100 | 100

100 | 100 [ 100 | 100 | 100

~ (3= 2 Calculate the following addition problem.

Think about how many hundreds there are.
2000 has 20 hundreds and 500 has 5 hundreds.

25 hundreds is 2 thousands and 5 hundreds.
Therefore the answer is 2500.

is 25. It means 25 hundreds.

100 | 100 | 100 [ 100 | 100

\ 100 [ 100 [ 100 ]
100 [ 100 |

[roo T o0 T100 [ 100 [ 100 |
100 | 100 | 100 | 100 | 100

100 [ 100 [ 100 | 100 | 100 |

T

‘ mo\woo\woo\m\mo\
100 [ 100 ] 100 [ 100 [ oo ]| [0 [ 100 ]
[1oo]

I_l_' Calculate the following addition problems.

I_l—' Calculate the following addition problems.

© © 06 0

500 + 900 =
100 + 800 =
400 + 700 =
00 + 600 =
500 + 700 =

(2]

o
o
o
10)

900 + 400 =1 1300 |
400 + 800 = 1200 |
800 + 900 = 1700 |
900 + 100 = 1000 |
200 + 800 =/ 1000 |

7000 + 800 =
6000 + 700 =
4000 + 600 =
000 + 300 =

0 %00 + 100 [770]
0 109 + 20 =[120]
© 700 + 500 =750

© © 606 ©°

153
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Numbers Greater Than |000
Subtraction with Hundreds

14- 8

&

<»[FEnis 2 Calculate the following subtraction problem.

<=3 1 Calculate the following subtraction problem.

800 — 600 =

Think about how many hundreds there are.

800 has 8 hundreds and 600 has 6 hundreds.

So subtract 6 from 8. The answer is 2. It means 2 hundreds.
Therefore the answer is 200.

l_1—' Calculate the following subtraction problems.

© 800700 = 00| @ 700 - 300 = | 400 |
0 w-wo-[m] @ wo-m=[m)

© © 0 0

o
(8]
10)
12)

<» (3N 2 Calculate the following subtraction problem.

1200 — 800 =

Think about how many hundreds there are.

1200 has |2 hundreds and 800 has 8 hundreds.

So subtract 8 from 12. The answer 4. It means 4 hundreds.
Therefore the answer is 400.

I_Z—I Calculate the following subtraction problems.

© 1200-900=[300] @ 1300 - 500 =[50
© 1600-700=[900] @ 1500 — 800 =] 700 |
© 1400-700=[700] @ 1100-300=]500]

10000 — 3000 = | 7000 }4 10000 is FEF e el et

Think about how many thousands there are.

10000 has |0 thousands and 3000 has 3 thousands.

So subtract 3 from 10. The answer is 7. It means 7
thousands. Therefore the answer is 7000.

|_3—I Calculate the following subtraction problems.

© 10000-6000 =[4000| € 10000 — 8000 = | 2000 |

155

156

Numbers Greater Than |000
Review

14- 9
l_1—' Write the numbers in the[ |.
o 7532 is the number made of thousands,
hundreds, tens, and ones.
6 2496 is the number made of thousands,
hundreds, E tens, and E ones.
0 7505 is the number made of thousands,

hundreds, and ones.
o 2835 |is the number made of 2 thousands, 8 hundreds,

3 tens, and 5 ones.

© | 7427 |is the number made of 7 thousands, 4 hundreds,

2 tens, and 7 ones.

@ | 2304 |is the number made of 2 thousands, 3 hundreds,

and 4 ones.

© 6194 = 6000+ 100 +[ 90|+ 4|
© 1721 = 1000]+[700 | +[20 ]+ 1]
© 5432 =[5000] +[ 400 | +[30 ]+ 2 |

I_2—' Compare the following two numbers and write the
appropriate sign ( < or > )in the |:|

O o876 > |8952 O 2345 < |3456
© s5632| > [5599 O 7389 < |7411
O 3610] < |3620 O 6285] > | 6283

I_3—' Write the numbers in the [ |.
o 0 1000 2000 3000 4000 5000 6000 7000 8000
L L Il I Il L L Il L Il L Il L Il L Il L

t f f t
[ 1500 2800 ] [4300]  [6600]

(3] 23‘0025‘00 26‘00‘ 27‘00 ‘28‘00 2=7‘oo\ 30‘00 \3|‘00

I_l.—' Calculate the following addition problems.

© 300+900=[1200] €@ 700+ 400 =
© 7000 + 800 = O 4000 + 500 =
© 600 — 200 = O 800 — 600 = 200
@ 1400 — 600 = © 1300 —800 = | 500
© 10000 — 7000 = @ 10000 — 6000 =

157

JICA 24 _fR&ARER_P002-046. indd 40

2022/02/25

14:57:5




Let’'s Think about Using Diagrams
Using Diagrams (1)

<»[3ZnE | had some oranges. My friend gave me |3
oranges. Now | have 48 oranges altogether.
How many oranges did | have at first?

Total number of

oranges
(48 )ngranges

Look at the diagram.
. lreceived |3 oranges, so
~ write “13" in the diagram.

( | 3 ) | have 48 oranges
35 ClEe s rangas altoggther, so write “48” in
y the diagram.
oranges .- N oranges < Then think about how you
| had at first recieved  can find the number of
oranges | had at first.
48 — 13 = 35.
Math —
g e | 48 — 13 = 35| Answer | 35 | oranges

|_'|—I My mother had some tomatoes at home. She bought
|2 tomatoes at the shop today. Now she has 37
tomatoes. How many tomatoes did she have at first?
Total number of

tomatoes
"/ ) tomatoes

12y |

tomatoes

. Tomatoes .-
she had at first

“ Tomatoes
she bought

.37 tomatc
Sl
? (esssm @ <
_— poetedl v
“SA:rt\l:ence 37 — |2 = 25 | Answer | 25 | tomatoes

158

|_2—I We had several notebooks at home. My brothers
bought |8 notebooks at the shop. Now we have 27
notebooks. How many notebooks did we have at first?

Total number of
notebooks

(97 )tomatoes
(18)

notebooks

Notebooks
we had at first

- Notebooks -
my brothers bought

Math
Sentence

27 —-18=49

Answer | G | notebooks

|_3—I There are 60 sheets of red and blue paper altogether.
There are 45 sheets of red paper. How many sheets of
blue paper are there?

Total number of
sheets of paper -

( 60 ) sheets
( 45 )

sheets of red paper

sheets of blue

----- Blue paper

Math
Sentence

60 — 45 =15

|5 sheets of

Answer blue paper

159

*

Let’'s Think about Using Diagrams
Using Diagrams (2)

<»[FEn3 There are some chocolates. My brothers ate
|7 chocolates and there are 15 chocolates left.
How many chocolates were there at first?

Look at the diagram.

The number of chocolates
~. that my brothers ate is 7.
There are |5 chocolates
left. So the total number
of chocolates can be

Total number of chocolates

Chocolates _ Chocolates " found using this math
that my brothers ate that is left sentence.
J— 17+ 15 =32
The answer is 32
chocolates.
Math —
S nce | |7 + 15 = 32 | Answer | 32 | chocolates

|_1—| We have some cans of juice. We passed out 27 cans
to our friends. We have |3 cans left. How many cans of

y | . .
L2 There were several cars parked in the parking area.
Twelve cars drove away. There are 29 cars left. How
many cars were there in the parking area at first?
Total number of cars
that were parked

(12)
cars
Cars that -~ Cars that are left in
drove away the parking area
Math —
Seantence |2 + 2q - 4'

Answer | 4 | | cars

|_3—I | had several stickers at home. | gave 35 stickers to
my classmates. | have only |6 stickers left. How many
stickers did | have at first? Make your own diagram and
find the answer.

Total number of stickers

juice did we have at first? stickers
Total number of cans
of juice & ey ( )
,,,,,,, SEEEESEEE! : )
cans ] ECEEEE] L stickers | stickers |
" Stickers that | gave " stickers
(27) (13) to my classmates that are left
cans of juice cans of juice
- Cans of juice B Cans of Math —
we passed out to our ~ juice that Sentence 35 + | 6 5 |
friends are left
Math — cans of Wit 5 & il et Answer stickers
Sentence 27 + | 3 - 40 Answer 40 juice Can you solve this?
160 161
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1 5 3 Let’'s Think about Using Diagrams

|_1—I There were several children playing in the park. Now
I5 children came to the park. There are now 23 children
altogether. How many children were there in the park at
first?

Total number of children
I (D3 )children oo .

; (15
children children

™ Children playing in ©~ "~ Children who
the park-at first came to the park

Math —
S:ntence 23—-15=28

15 children

Answer | & | children

|_2—I There were several children playing in the park. Nine
children went home. There are |8 children left. How
many children were there at first?

Total number of children

E @@  GeeEO0 children

- 9 children - 18 children :
(9
ﬁ children
] 1)

o - children who "Children who are still
went home in the park

Sentence | 9+ 18 =27

|_3—I There were 24 children playing in the park. Several
children went home. There are only 9 children left. How

many children went home?

_ Total number of children
T ( 24 ) children

children -

_. childrenwho ___- ;:hildren who are
went home still in the park

Math —
Seantence 24— 9 =

Answer | | 5 | children

|_4_| There were several people in the restaurant. Fifteen
people went home. There are only 7 people left in the
restaurant. How many people were in the restaurant at
first? Make your own diagram. Make a math sentence
and find the answer.

Total number of people

e people "

5) (7
people people
- People who went " People left in the
home restaurant

glearg?ence |5 + 7 = 22

This is also another
hallenging task. C.
Answer 27 children :o:,::f;:g G (e Answer 22 people
162 163
1 6 1 Describing the Size of Divided Parts |_1—| Circle the following pictures that show an object divided
= . |
L One Half ) into - parts.
<wInstruction \When something is divided into two equal () (b)

parts, the size of one of the parts is called
one half. Itis written as the following: .

% How to read: one half

This kind of number is called a fraction.
|_2—I Colour a L part of the shape in the following pictures.
<=»[3=r;13 Circle the following pictures that show an object
divided into % parts.
(a) & (b) (c) 4
We should think about whether it is divided into two equal
parts. The word of “equal” is very important.
164 165
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Describing the Size of Divided Parts
16 = 2 One Fourth

| J

<wlInstruction \When something is divided into four equal
parts, the size of one of the parts is called
one fourth. Itis written as the following:

% How to read: one fourth

This number is also called a fraction.

<> [3Z=nE Circle the following pictures that show an object
divided into % parts.

Circle the following pictures that show an object divided into
% parts.

(a)“ R

Describing the Size of Divided Parts
One Eighth

J

<wlInstruction \When something is divided into eight equal

parts, the size of one of the parts is called
one eighth. It is written as the following:

8 How to read: one eighth.

i This number is also called a fraction.

<»[EEnE Circle the following pictures that show an object

divided into % parts.

Describing the Size of Divided Parts
Original Size and Fractions

<»[3&n8 1 There are |2 oranges. Answer the following
questions.

o Draw a line to divide 12
oranges into two equal parts.

in one % part?
oranges

0 What happens if you multiply the answer ofe by 27,

Multiplying 6 by 2 equals |2, which is the original
number of oranges.

|_l—' There are |2 tomatoes. Answer the following questions.

D li divide 12
Ot 2 9O O®
e How many tomatoes are there in . . . .

one % part? tomatoes ‘ ‘ ‘ .

e What happens if you multiply the answer to Problem 6
by 4?

Multiplying 3 by 4 equals |2, which is the original
number of tomatoes.

168

I_z—I There are |6 tomatoes. Answer the following questions.

@ Draw lines to divide |6 tomatoes . . . .
into four equal parts. . . . .
O How many tomatoes are there in ‘ ‘ ‘ ‘
one % part? tomatoes . ‘ ‘ ‘ ‘

0 Why are the number of tomatoes in one % part in Problem
| 'and Problem 2 different?

This is because the original number of tomatoes are
different. There are 12 tomatoes in Problem | and 16
tomatoes in problem 2.

This is a very important point!

|_3—I There are |16 onions. Answer the following questions.

Can you divide this into equal eight parts?

@ Draw lines to divide 16 onionsinto .-}
eight equal parts. :

0 How many onions are there in one
| i

g Ppart? onions ‘ ‘

0 What happens if you multiply the answer to Problem Q
by 8?

Multiplying 2 by 8 equals |6, which is the original
number of onions.

169
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Describing the Size of Divided Parts
1 6 - 5 Review

|_'|—I Write the numbers in the D

0 When something is divided into two equal parts, the size

of one of the parts is called one half and is written as E

e When something is divided into eight equal parts, the size
of one of the parts is called one eighth and is written as .

9 When something is divided into four equal parts, the size of

one of the parts is called one fourth and is written as .

I_z—' How big is the coloured parts compared to the original

shape? Choose from % % or %

°[f

170

|_3—I Colour a % part of the shape in the following pictures.

(a) (b)

There are many lines. Do not be confused!
Think about dividing the shape into four equal
parts. Which lines are important?

I_l.—' There are 20 bananas. Answer the following questions.

o Draw a line to divide 20 bananas into two equal parts.

e What happens if you multiply the answer to Problem e
by 27

Multiplying 10 by 2 equals 20, which is the original
number of bananas.

171

. Pagenz-7zz

Number & Operation

Entire Grade-2 Review (I)

lJ Calculate the following problems by using the algorithm.
1 38+21 (2 18+27 (3 7+496 4 257+ 23

38 18 7 215|7
+2 | +2]7 +916 + 23
59 415 1103 218]0
5 6918 ® 92-76 @ 51 —4 @ 125-96
619 712 51 1215
-1 118 —1716 - 14 = 96
51 116 4117 219

lJ Calculate the following problems.

1 400+200= 2 800-300=[500] @ |000—300=W

3| Compare the following two numbers and write the
appropriate sign ( < or > ) in the |:|

1 427582 2 762726 3 8I828\3I

4| There are 18 boy students and 25 girl students in my
class.

1 How many students are there in my class?

Math I8 + 25 = 43 Answer | 43 | students

Sentence

2 Today 4 students were absent. How many students are
there today?

gl:é?ence 43 — 4 =39 Answer | 39 | students

172

jJ Calculate the following multiplication problems.

1 6><3= D 9x6=|5] @ 2><5=
B ex7=[28] ® 1x6=]¢6] ® 3x9=[2]

ij There are 5 boxes, each of which has 6 donuts. How
many donuts are there altogether?

g:rt\rt]ence 6 x5=30 Answer | 30 | donuts

lJ Look and the following picture and make a multiplication
math sentence. Find the answer.

6x2=12

ﬁj How big are the following coloured parts compared to
the original size. Answer in fractions.

173
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Entire Grade-2 Review (2)

iJ Find the triangles and the quadrilaterals.

Triangles are | (e), (g), and (i)

Quadrilaterals are| (a), (c), and (d)

y Which of the following is a right angle?
(a) (b) (c) (d)

i

3 Find the rectangles.

(a) and (c)

@) |

174

iJ Draw the following shapes on the grid below.

1 Avrectangle with 3 cm sides and 4 cm sides.
2 Asquare with 5 cm sides.

3 Aright triangle with 2 cm and 3 cm sides that form a
right angle. I cm

| cm

(1)

(2]

5 Find the length of the side marked in red.

1 2
2cm 3cm
Eﬁ 2 |em | cm\_]j | |em
3 4 2cm
4cm
2cm

3cm ;
3 |cm. 4 |cm.

iJ When you put these shapes together to make a box,
which box will you make, (a), (b), or (c)?

1] (a) (b) (c)
Tn °© 2
]

(b)

175

Measurement

Entire Grade-2 Review (3)

iJ Draw the following lengths as straight lines from the
points by using a ruler.

1 8cm

7 mm —

w

Il cm 3 mm

2] Convert the lengths.

1 \Omm:mcm 2 2000m=m

3 4m=cm 4 35mm=cmmm
5 \46mm=cm|Z|mm

6 203cm:mcm

y Calculate the following problems.

1 5cm+|Ocm=cm 2 7mm—3mm=mm
3 \3m—6m=m

4 20m5mm+6cm=cmmm

5 2m300m—200m:mcm

8 3m6oem—Im20cm =2 [m[40]em

7 30m4mm+4cm7mm=cm|I|mm

8 4m20cm—55cm=mcm

176

4| The time is 9:25 now. Write the time points that shows
the following times.

1 20 minutes after 2 3 hours before

Itis Itis.

EJ The following tape diagram shows hours in a day from
12:00 a.m.A B

0 | 2 3 45 6 7 8 9 10 Il 12

01 23 45 67 8 9 10 Il 12 0
Noon

1 What are the time points to A and B using a.m. and p.m.?
(a) Time point A (b) Time point B

2 Fillin the blanks

(a) (b)

A day equals hours. 24 hours equals m day.
iJ Match the same capacities with a line.

1 | dL | dL
|
d

L IdL

g =
lJ Convert the capacities to dL and mL.

D L= 1000]mL 2 d=]3]L

9 5d=] 50 |mL B L2 =] 1200 |mL

177
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Data Utilization

Entire Grade-2 Review (4)

lJ A student is watching animals at the national park.

m%l@, 4ﬁ ”
k\w %% \W{{:h% ¥

”nﬁﬁﬁﬁ mmw(?(

1 Tally them on the graph using a O .

Giraffe ) O|0|0|0]0|0
Elephant & |O|0|O
Zebra g O|0|0]|0|0O
Gazelle = O|0|0|0|0|0|0]|0O
Cow % 0|00

2 Fill the numbers in the table.
Name of animals Number of animals
Giraffe 6
Elephant 3
Zebra 5
Gazelle 8
Cow 3

3 How many zebras are there?

4 What is the most common animal in the park?

Gazelle ‘

178

AJ Find out what kind of colors are popular in your class.

Red O|0|0|0
Orange O|0|O0|0O|0O
Yellow 0|00
Green O0|0|0|0|0]|0
Blue O|0|0|O0|O0|0 |00
Brown O0|0|0]|0O
Purple [e]e)
Name of subjects Number of students
Red 4
Orange 5
Yellow 3
Green 6
Blue 8
Brown 4
Purple 2
1 How many students like yellow?
2 What color do 5 students like?
‘ Orange ‘

3 What is the most popular color in the class?
‘ Blue ‘

4 What is the least popular color in the class?

Purple

5 Four students like red. What other colour does the
same number of students like? ‘

Brown ‘

179
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